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After completing this unit, you will be able to:

\Write ordinal numbers from first to twentieth

Write numbers 1-100 in words.

Read numbers up to 999.

Write numbers up to 999 as numerals.

Recognize the place value of a 3 - digit number.

Identify the place value of a specific digit in a 3 - digit number.
Compare 2 - digit numbers with 3 - digit numbers.

Compare 3 - digit numbers with 3 - digit numbers.

Count backward ten steps down from any given number.

Arrange numbers up to 999, written in mixed form, in ascending or

descending order. -

Count and write in 10s.
Count and write in 100s. :
Identify the smallest/greatest number in a given set of numbers.
Recognize that 1000 is one more than 999 and the ﬁrg{:t-digit number.

e o 2 & & © ® & ® ©

= e,

=

RS S S - et sap

Aliis studyihg. in a library,
Can you count the books in the shelf?

e

1 Not for S~ia- PFSRP
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Units Whola Numbers

-~

~ Ordinal Numbers .
— Jm&?"iﬁ"';‘" - }.--
T ]
Let us look at the honey bees ; 1\’” v N
. and their positions. First g (‘ i ek,
' e 1
Fourth Third ‘ \ '_,.1‘.
. { R
. i \ *‘{ I.:i . 4 ﬁlj (‘ nd
Flf}h {(‘r\“} ( . 2
v il g 3
S

Sixth \;_{B F=\ ’> Il
B ) ) ) SN
_ Eighth  Ninth Tenth Eleventh
16" 15" 14" 13" 12"
S0 "C AP ‘

=\ ' Ty
5 N GRS N/
y o L' faw v, = L v \ I '
._;(ﬁ‘%i; "*(«;?J ‘a(@-'?" - (W

Sixteenth  Fifteenth  Fourteenty Thirteenth Twelfth

Ao th
M S~ 18 19
17”'I j'.’;:":) -’,_ j' “}r m ___} y o 20!!1
Sevenleenlh r:“..‘rj I - I i‘.'.k\! : 1 . :f - }
‘ »‘ < (X
Eighteenth _ »" )N .
.Ordl | | N'Ueteenth Twenlie =
nal numbers are used to re .

. Present the position of objects
L2 For effectiv toaching and fq

Instruction to explain the co local language’ as medi: of

Yo nac
Y ordinal numbers, lieue (or game) and explain their posinons using
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Unit 1: Whale Numbers Mathamatics < 2

'n Ask the students to stand In a queue (or game) and explain their positions using ordinal
'%n#"t numbers,

s =M
Fcd 3 o4 !
RS Ly~

_ Not for Sale - PESRP
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Lei us read and write counting up to 10,

/ /
(8 | 15 =
i Eight Fiftean 7. Z(
T ——— 4 J "“’ﬁ!'n
oings - ~viiiasin \ ./. ' . -
2 9 16 7
Two Nine Sirteen T'fm,i
——— g— s " / : ~ |
3 |[ 10 17 2%
Three - Ten Seventeen  Tyem.s
A9\ L . S = o
18 B
Four H [even Erghteen Twertyte
S . W S . S
{ 5 : f 1 2‘—__ e == ’-E e o —I-:,__:':-'
Five || Twelve || Ninefeen  Tweir®
6 (79 20 7
| Six j i Thurteen | Twenty T\”M
DA I B
.~ Seven | Fourteen Twenty—one TW"J

\Q_—.Th . -

Scanned with CamScanner



umbers Mathematics - 2

ﬁ’?@”’ 37 { 45 Jﬂ%J

Twenty-nine || Thirty-seven Forty-five ifty-three
e e - A, 3 , [
e P -
30 38 46 54
Thirty Thirty-eightj ] Forty-six B Fifty-four

N

e s " r 39 e 2 L{‘{ - 55 )

Thlr%ylffcﬁne kThirty-niniJ \Fort'y—sever_b \ Fifty-ﬂve__)
YT ) 48 | 560

32 [ |4 | 28
| Thirty-twoJ | Forty. 3l frTrty-?rght X Fifty-six |
) . ~\ ™\ ) T )
—33 | 41 | 49 57

Forty-nine Fifty-seven
y-one rty DI i

hirty- | Fort
\Thlrty threi/\ L/I ) &

& ) L )
ez Fifty-eight
Thirty-four Forty—two Fifty L -4
— =% 2t SR
P 3!5 4_/1 43 5 1 | @

| Thirty-five Forty-threiJ i Fiﬂy_—oneJ | F|fty-.n|neJ

~

- 9
35 | 44 | 52 || 60
!_ Thirty-six < Forty-fourJ M \w__*S'_Xt!’_)
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Sixty-two

Jlr QJ

o1

Sixty-five

| Sixty-seven

f 68

dy-elght

Sixty-four |

65 |

N el

069

r - Sixty-nine

70

| J | Seventy

—

f’

(72

‘in

|

[
I

A
!,:l Se‘fe”tY-seveng‘ Duﬂ

| Eighty‘ﬁ\fe
| 8 86
| Seventy eught; | Eighty-s,x

[l
i

]

Slxty-three ItSe\;rtfz'nty-one ) [Seventy—nme Elghty SeVen

80

88

Seventy-two 1{ Eighty Elghty -eight
1 | 81 H 89
JSeventy-threeH Erghty -one \f Elghtynme
74 |82 | [od |
Seventy—four | Eighty-two .!J Ni_nit_)_// __'!
e
75 | 83 91 |
Seventy_— ive J Eighty-three | W 1]
S —— S RS
I[ 76 | 84 92
_Se{e_rlt!fix J Eighty-four || Ninety—@__

—— e e

s © “"1%

g
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o7 | [

Ninety-seven Ninety-cight

100

.;One Hundred

93 | 94 | [oy

;Nmety-threeif, Ninety-four ' Ninoly-five Ninety-six

- Ninety-nine

96

99 |

—— - .
E= et ok L

« 0is the smallest 1-digit number.
. gis the greatest 1-digit number.
pﬁ}%'is the smallest 2-digit number.

« 99is the greatest 2-digit number.
h—

o Yoursel
Complete the following:

; |Twenty-four ‘ I ’
:
: @ Seventy-nine .

S

/’

Not for Sale - PESRP
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10 ones

| 2tens =20 | 3 tens = 30 | 4 tens = 40

If we keep counting in tens, we get

0 tens 100 ones = 1 hundred
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100 ones 200 ones 300 ones
1 hundred 2 hundreds 3 hundreds
400 ones 500 ones 600 ones
4 hundreds 5 hundreds 6 hundreds
ki .
800 ones 900 ones

8 hundreds 9 hundreds
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Unit 18 Wimio Numbers

Now. we learn to read and write 3-digit numbers with the help
of blocks.

]

+ | f

100 + 20 + B = 126 '
one hundred twenty six  one hundreq
and twenty-siy

300 + 40 + 2 =248 342

three hundred forty two three hundred
and forty-two £

4=
faseTaane

900 + 90 *.9 | = 999

nine hundred ninety nine  nine hundred
and ninety-nine

Not for Sale - PESRf
)
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I y
J .. Fhirty-six '} )

L s

Twenly-lwo

| b 3
Fifty-eight [ | [} Sixty-ihvos

e o \
I Eighty-four |  ) B Ninety-six

'
4

numbers in words.

Lol Ol
[ ONNLO |

2 following:

F o
a‘--m—m
a--m—*—
-—-

aaz |
4 -
LA - .

Saess—— ]
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Unit 1: Whole Numbors

4. Write the following rumbers in numerals:

(1) 'Bﬁa'ﬂbnare'd en'd fifty-two

e ey A ——

Three hundred and thlrty-elght

———————————— —

Four hundred and ﬂftL

=
L =
— :

—
-
e —
—

B _— PRt NI~ ere e A0 AR
Five hundred and nine B, 7'—\

e —————

Six hundred and ﬂfty-elght

—
(s

Seven hundred and eleven

et

Eight hundred and sikty-eight

Nine hundred and ninety-nine

ite the following numbers in words:

. .
B B asz 838 a2

N
@
o

X
(9]

S|
N
o
(o)

Nea?r . oo nAromnnD
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f each digit is found by its position in a number.

he pla° i
Lot us find the place value of 2 and 6 in 26.']
‘Hundreds Tens Ones
. 2 tens 6 onés
I 20 6
20+ 6 =26

Jedigit 2is at the tens place. So, its value is 20.
\ediqit 6 is at the ones place. So, its value is 6.

‘Hundreds | Tens | Ones |
2 hundreds | tens 5 ones
200 40 8

1200+ 40+ 5 =24

e |l .

e dig 2is at the hundreds place: So, its value is 200.
d‘9lt4 is at th

'8 gy 51

S ?t, the ones place. So, its value is 5.

e tens place. So, its value is 40.

Scanned with CamScanner
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‘_*{ Let us find the place value of each qigiiijl?ﬂ?-_.,‘ |

|! a - s ¥ar Sala-P77

e ]



e

*

. 3 ‘v)/(

Unit 1 Whole Numbers M
athgry
atley

'How i,y hundred, tens and ones are therg
in the given numbers?

SRRV 308, 400
| ‘Hﬁundreds- Tens Ones |
300 00 8 |
= | 3 hundreds 0 tens 8 ones -
. ¥ | Hundreds Tens Ones
400 00 0
4 hundreds 0 tens 0 ones

-

Tell the place value of the coloured digits.

4 hundreds =400 ; 3tens =30

LHow many hundreds, tens and ones are there in 333J

® numbers.

= Explain the coricept of place value of n;;t;ers usi
_ r sing teaching aids (chart, abacus, etc).
@ Write different numbers on board and guide the students to identify the place valué of

-___——___—-‘

14 R LY -

N~ ¢~r Sale - PESRF
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many hundreds, tens and ones are there in the given

g ) S —— -
. @mes d E ones (285 ) lons N )
mm QGE\ m hundreds Cz onas .-"",‘w j

[i]rundreds | tons hundreds

P
—

Y e N
.r— hundreds : @ hundreds WL 7y tens i

A
-y
——
Q
=
51
-
c
-
Q.
-
w
Qa
w
2
4*1
B
o
-
D
(V]
S )
_r’) i
-

2 Write the place value of the coloured digits.

—

OEEE D1y DI
O B e
YOIl Zer.) MENiomgd Wenlls ns
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Lt 1 Y
4. Write the number with the help of values. ‘Y’a

o ,JW"”"Z. | (-132_.) M) 200+10+5=

,:’ﬂf
{‘ ( JO" (16‘5.0) mn 400+0+2= I/ 15 C
800"‘80"'8: 4 ‘

.

=
- s
+ ! Tl

@ 700+10+9° (7/9) @

— —
71 600+00+0= (\@9 7 900+ 90 +6= ‘u:
4. Write the number for the given place values. :
Place Values of the Numbers Numbers
mW| 1one 2 hundreds, 5 tens 251 i
| | 3tens, S hundreds, 4 ones )
7 | 6tens, Oones, 6 hundreds o
®) | 5 hundreds, 7 ones, O tens -
7 | 8ones,9tens, 1 hundred

_—

T | 0 ones, 3 hundreds, O tens
PE

Not for Sale -
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collects 435 coins and her friend collacts
“l | coins. Who has more coins?

To find who has more coins, we will
compare both numbers. |

488 is a 3-digh number. *;-I-Ilﬂn_d;é a—;—-l i'ér{é. o
@ is a 2-digit number. 4 L 3 | ' 5‘ ' |
So,436 s greater than 85, |
Therefore, Fatima has more | L -\
coins.
While comparing a 3-digit number with a 2-digit e
illbar. the 3-digit number is always greater. :
Lip compare 518 and 376.
Hundreds T_erh; ™ Ones
S 1 8
3 7 6 1

';'1*0 compare the digits at the hundreds_ﬁlaée:
S:Ihd: is greater than 3 hundreds.
$18is greater than 375,

- While comparing two or more 3-digit numbers, first we
ompare the digits at the hundreds place. The number
. | Mﬂ‘l the greater digit at the hundreds place is greater.

Not for Sale - PESRP
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e ———— et

@ Let us compare 368 and 321, J
i. | e et

r i
Hundred Tens Ones
,...-—"""-.-—-—f —
3 6 8
IS
3 | 2 1 J
e
First, we compare the digits at the hundreds place. Both digis,,
me. |
:lE:)w we compare the digits at the tens place. 6 tens is greatey s,
2 tens. |
So, 368 is greater than 321.
Let us compare 469 and 463.
[ Hundreds Tens Ones
4 6 9
4 6 3
digits are sz

First, we compare the digits at the hundreds place. Both

tens place. Both digits are also sa

Now, we compare the digits at the
ones place. 9 ones is greater

Now, we compare the digits at the
than 3 ones. So, 469 is greater than 463.

While comparing two 3-digit numbers, if the digits at the hundreds place.

terf _place and ones place are same, then both numbers are same.
e e o ot oo i e i e L T S e = —

- ——— — ——

( n " Write different palrs of 3-digit
with gt numbers on board and mbers
4 " the help of their place values without using uymb:,ltf l&ln)h;w K Sampers 1

—_——_____——/

e- pESR

T e e i)
18

Not for Sal
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-

-
\

\.

pu
il Can we find the Smallest

and the greatest number

in these numbers?

- TR
' Ordering Numbers

.l.___f F
__‘_-_-_‘_"“——-__

Yes, we can find

the smallest ang the
greatest number by Comparing place

values of the given numbers

r“ g .

(/14

Hundreds Tens Ones
2 3 5
5 1 6
1 4 7

(j__é:--;j'_'
.!E‘\:’i

irst, we compare the digits at the hundreds place.
M hundreds is the greatest.

0, 916 is the greatest number.
Mimilarly, 1 hundred is the smallest.

i0, 147 is the smallest number.

low, we write (235 | 516 | [147

in order as,

=
516

!

i 14-71 ’ 235“»’

\

l ~

The smallest  The greales!
= number numbel

j The arrangement of numbers from the smallest

A4\ Othe greatest is called “ascending order”. A S04
5% e U
_ 19 Not for Sale - PESRP
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e N

| 616 I235] Iwi

) | }
fhe greatest  The smallegt
nuriber - number

' The arrangement of the numbers from 0
to the smallest is called “descending or der” S

Write f 162’ [ZESJ ’ _E?J in ascending and descending o

)
(First, we find the smallest and the greatest numbers

by comparing place values of the given numbers, - i.
Then, we will write them in order. : "

2 hundreds is the g_reatest. Hundreds ans o
So, 203 is the greatest 1 8 —]

- number. __{
Now, we compare 162 and 2 0 _3_
168. The digits at the 1 6 3

hundreds place and tens
place are same. But, 2 ones are smaller than 8 ones.
So, 162 is the smallest number.

Ascending order: UG_?_I L‘IEEJ E’B—B]

| Deseending arder: 203 | 168 | 162|

Not for Sa
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1. Encircle the greater number,

(W)

I

18

(d)

®

599

©]

(248 )

m—-—-‘rﬁ_,.-'

__-"""""'-——m

2. Encircle the smaller number.

®)

100

()

(d)

550

(s05)

©

| 497 | @] 09 [ {ge)

98 | [@| 198 (218

"Ilm-u_,_.:...,__z__._

212

‘\G?DI 309 |(289)

700

3. Encircle the greatest number.

g

115

g

8] Geo) |

809

85 | 435)
388 | 389 |
799 | 690

S .

4.Encircle the smallest number,

o

m""\-—-_.__

\a8) |

e e . - s

101

200

—

— g
i
4
= el —_—

oo |

2

21

L[ 214 | 275 4| 250

@] 689 | (700 | 599

G| 998 | 899 | ‘099

Bl 318 | 381 | (83) |
@ | @ 241 | 412
M o989 | 998 @9!

|
Not for Sale - PESRP
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. N o L./"-:IJJ \ :J
5. Write the following numberé"(n the ascending order: w

6. Write the fallowing nunc1jt)ers in %ﬁégescendmg order:

Scanned with CamScanner



s Numbers

Mathamatics - 2

I ] Let us count and write backward countlng 10 steps |
down from 112 and 343.

I 112 H 111 {110 §109 H108 {107 H{106 H{105 H104 H103 H{ 102

U3 H342 13411340 [{339 {1338 H337 1336 |{335 {334 || 333

d countlng 10 steps down from the gwen numbers

| ——— . ,._,-__,‘ ': T

Sk B
P —— e,

5 IZZ'LIZ/_'}.Z@LH@ /18 H// vH y
| ;ZQL _27.4 27312 i‘_7f‘ 274\ “ZH
sl 21713182 42k 24

T
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| T

p—

T. _Comﬁlete the following by counting in 10s:

40 5p 60" . i 7~ 5 2, s 100
0ol o p 107 (55 160 |/,
seor S T Wous TN !

2_Write the next 6 numbers by counting in 10s.

90 loo Laas L 1Rs ;‘?@ (40 [5a
8 oy va 26 265 270 -
| 8801 48h Sl sdot Fap gion 072
N0 Pon Tn 725 Fip 79 CL___,_,,.-

e

o
. .
\
\

"W, Enceurage the stu '
T'Jf e nr;q; has dents to read and write the next numbers from the given numbers!
sty

‘_____,_,_;

/ Vot for Sale - PES!

“— /
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Mathematics = 2

100 200 300 400
~+100  +100  +100  +100

A A VR

100 200 300 400 500

1, Complete the following by counting in 100s:

0 Gpn Spp O 2,2 ZFa-

210 (8M0” yo 0 525 60 g5

0 FBs5, £5n ;2";; o J55 950

2. Write the next 5 numbers by counting in 100s.

105 205 305 405 505 605

o QJ@  530 Alp ;7?0 &
L 0N B TO Myl ED 59, )r

R4S R 6"/7 74y 844 7

°°Uraga the students to read and write the next numbers from the glvan numbers by
mﬂ;ﬂng in100s.

) Not for Sale - PESRP
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Unit1: Whole Numbers

Hundreds Tens Ones

9 9 9
[ 999 is the greatest 3-digit number. Wﬁat V;fiil-l';'eh .
| the next number? '

-

If we add 1 more to 999, what number will we get?

999 + 1 =1000 - one thousand

1000 is the first 4-digit number.

In the place value chart, we represent one thousand as:

Thousands | Hundreds Tens Ones
1) 0 “7 10 0

ey rac i e
1000 is the smallest 4-digit hurﬁb 5 A ]

—

'1

I+

. “"“"‘"'#;ﬂa"osm:mbﬁw as ‘one more than 999 Tell them that 1000f-‘|

Not for Sale - PE
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the position of the objects.

. read and write numbers up to 3-digit.
. identify the place value of 3-digit

numbers.

. -compare 3-digit numbers.

. write 3-digit numbers in ascending and descendi
. count 10 steps down from any given number.
» count and write in 10s and 100Qs.

- recognize 1000.

|. Tick (V') the correct option.
1) Inwords, 46 is written as
_

] thirty-six - [[] forty-six fifty-six

W) Ordinal numbers are used to represent the

the objects. .
B shapes

109

Review Exercise «

‘};‘a! s.

quantity
i) Nine hundred and nine is writt

| have learnt to: .ﬁf
use the ordinal numbers to represent [

Vocabulary
* Ordinal Numbers
* Compare
* Ascending Order
e Descending Order

TEE———

e

ng order,

| 901
() In 158, the place value of 1 is

@) 10

Y I (689 [s90

909

999

N

909

()] position

ep,in numeral as

sixty-six

of

Y

- [(eh] place value

999 (@) 909

0 1000
,which number is the greatest?

990 989

27

LY e - —
. "-*-'zwm

—--—-———————-—__'—'_-———_
R Not !0" !a|°-
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.iSh alphab et _ar_l_d write the position of the g n.,,\

9. Recall Eng! ey

lphabet. A ;4 |
el Co AL EFEAL ETRRI

~
p——— L P L
T b L R

Pl
3. Write the numbers In numerals. 9
ighty-niné 4

% f';'?:: hundred and thirteen y /7 '

T Five hundred and six. | i;*:, %
T Seven hundred and elgh.ty-sn( e
T Eight hundred and ﬁfty-mne_. L5 4
T Nine hundred and seventy-SiX 9 2L

4. Write the numbers in wprds. P
£ 96 (( Nﬂ;lﬁ E,u._ %,if)e _

B2 Lo hcncligi————
B 404 Four H;{ﬁég{f‘;l | c";Lm‘H ;_A——:L__
T 890 oy - )RS
T 967

5. Write the place value of coloured digits.

—~
71529 ) 8tens m(490) _L@

E@Enmﬁhm‘i t ol W15 Qhjsns
*—_’/

BT T OhOUeE 28

s
Not for Sale - PE

Scanned with CamScanner



4201 77429374

220

430

— Write the numbers in ascending and descending order.

\\

- 3

| A5 105 145 514 501 405

Ay
"_

e P
¥ g OO

order:

\\

WA

%Descendmg( )( )( >< 3( \( )

order:

529 T e
n— Not for gale - PESF

Scanned with CamScanner

T\ e\

pesﬁl__



y ijﬂh:mm“mm .
Number Operations
Addition

After completing this | portion, you will be able to:

® Add 1-digit number and 1-digit number .

Add 1-digit number and 2-digit number with carrying.

Add 2-digit number and 2-digit number s with carrying.

Solve real life number stories, involving addition of 2-digit

numbers with carrying. o

Add 3-digit number and ones without carrying.

Add 3-digit number and 2-digit number without carrying.

Add 3-digit number and 3—digif“}iumber without carrying.

Solve real life numbers stories involving addition of S-dlglt

numbers without carrying.

Add 3-digit numbers and 1-digit number with carrylng of

tens and hundreds.

® Add 3-digit number and 2-digit numbers with carrying of
tens and hundreds.

® Add 3-digit number with 3-digit number with carrying of
tens and hundreds.

® Salve real life number stories involving addition of 3-digit

numbers with carrying of tens and hundreds.

Add numbers up to 50 using mental calculation strategies.

Have you ever listened the bell of the balloon seller?
Here he has 5 green balloons and 3 yellow balloons.
How many balloons are there altogether?

Scanned with CamScanner



ns (Addition)

" stles =
e Mathematic 2

-r‘m
‘@w 8 candles] r"‘@ )

candies both have?
Letus ﬁnd' how many o | — B e e
“Fens | Ones | Tens | Ones| | Tens | Ones!
T esew ’, | |
8 Tl . L o |
+ : [ ek | | !
. 5 o998 ._ B0 S N——
| |- ‘? T e W A
i When the sum of ones is more than 9
after adding, then 10 ones ma\lte» 1 ten.
Carry 1 ten to the tens place.
1
1l T O
| T
Candies girl have = ; 8
Candies boy have = S
Total i = | >
4 candies 1 3 d Step 1 £
- Add the ones.
“ Step 2 3 8 ones + 5 ones = 13 ones
Add the tens. because 10 ones = 1 ten
ten + S So, 13 ones = 1 ten + 3 ones
n+0tens =1 ten
) |Carry MDten to the tens place. i
M have 13 candies
%mﬂn and learning, use 'urdu or focal language’ as medium of
: 0 explain the concept of addition,
pt of tens uslng teaching alds/common abjects (match sticks,

Scanned with CamScanner



Ahmad's lawn has 25 plants. He
adds 7 more plants in his lawn.,
How many plants are there in all?

. [ We will find the total
" number of plants by
| adding 25 and 7.

‘ —
S .
. T O
Plants in the lawn = @2— 5
Plants Ahmad added = 7
Total plants = |13] |2
P _ AEN
| SEY V[ stept
' Add the tens. | | Add the ones.
| Dten + 2 tens = 3 tens 5 ones + 7 ones = 12 ones

““““““ -/ | because 10 ones = 1 ten
' ; So, 12 ones =@Pten + 2 ones
So, Ahmad's lawn has 32 plants in all.{ Carry@to the tens place.

o

Not for Sale - PESF
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Mathematics -

| Add the ones.
7 ones + 6 ones = 13 ones
because 10 ones = 1 ten

So, 13 ones =(1 ten + 3 ones
carry Mto the tens place.

Add the tens. '
(Mten + 4 tens + 2 tens = 7 tens

A

=43
¥

i

Scanned with CamScanner



_Mathe >

Uit 22 Numoe! Qperal ; .
> Amna has 24 books and Hina has 8 books. How many b°0ks'
both girls have altogether?
o T O
Books Amna has =
Books Hina has 9
LTOtE' books = ]
3. Raza

There are
35 students . 28 students
in my class. _in my class.

How many students are there in both classes?
B
T O

Students in Raza’s class

Students in Maryam’s class

Totai students =
=

\

4. Afruit seller sold 36 kinnos in the morning and 48 kinnos in the
evening. How many kinnos did he sell in all?

o %
=50
Kinnos sold in the morning

Kinnos sold in the evening

LTotal Kinnos sold

-’

: {ot for Sale - F
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2: Number Operations (Addition
nit £

U

d likes to collect coins. He has 132 coins.

Mathematics - 2

i
33 prother gives 6 coins to him. How many coins ! w;"" |
iid have altogether? Ty -
joes Sa SPT |
ﬁ <(Add 132 and 6 to find the total number of coins}
w
& Hundreds | Tens | Ones
132 | @
| +
6 oo e
oW
1 3 8
(~ o =
H T O
Coins Sajid has = |1 3 2
Coins given by his brother = 6
Jotal coins = T{lalils i
l \
Ste )
Step 2 R & |
Add the tens S the i
' ones + =
3 tens + 0 tens = 3 tens ones = 8 ones
——— v o
Step 3 Ay S s
_i’*ﬂ hundreds = 1 hundred When adding 3-digit numbers,
), Sajig hé /| first add the ones, then the
9 kttans and finally the hundreds.

138 coins altogether.
i

[

Aot for Sale - PESRP
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Step 1
Add the ones.
6 ones + 2 ones = 8 ones

l«pz

Add the tens.
1 ten + 8 tens = 9 tens

Step 3

Add the hundreds.
3 hundreds + 0 hundreds = 3 hundrec_is

A bookseller sold 435 books on Tuesday
and 362 books on Wednesday. How many

books did he sell in both days altogether?

{ First add the ones, then the
' tens and finally the hundred

r N
_ | H., o 50
Books sold on Tuesday = (4] {3] |5
Books sold on Wednesday = .| 3| | 6] |2

Total books sold = [7] [o] [7]

—_
’

S0, 797 books sold in two days.

Not for Sale - Pgsﬁf
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2.Rehan likes to play cricket. He buys a bat for Rs 390 and a ball
for Rs 208. How much amount does Rehan spend in all?

r

Cost of the bat
Cost of the ball

F

T Of ,
I:lID o
+[JL

_Total amount spent

LICIL!

E

-l I ot for Sale - PESRP
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Unit 2: Number Operations (Addition)

We can find the total number of students by addmg 198 and g

ﬂ:e sum ofgags IS more lhan 9 after addmg;‘then 10 ‘
mke 1 mm:'ed Carry‘l h ndred ta@l’@ undreds place.[” '\

3 :
HIWE. O .
Number of students = QE1 10,)9 8 Step 1
: Add the ones.
New students = 6 8 ones + 6 ones = 14 on
because 10 ones = 1 ten
Total students = . 0 4 >! So, 14 ones = 1ten +4¢
. : / Carry(Dten to the tens pl
4 - sw 2
Step 3 Add the tens.
Add the hundreds. L@)eﬂ +9tens + 0 tens = 10 tens
hundred + 1 hundred because 10 tens = 1 hundred
= 2 hundreds | Carry(Dhundred to the hundreds place. |
- : J

So, total number of students in the school is 204,

dred wlm tens and teli them lhal how o carry
" '5"‘3‘: ‘_ Y g »'#?. k
W =S4

2

Scanned with CamScanner



12! Numbar Qperations (Addition 1
i Mathematios - 2

un

. Inourvillage, there is a garden, There are 254!
] mango trees and 78 guava trees. How many }
l trees__arle_) thgry_z In the garden altogether? i

i il S

We wil find the total number of trees by adding 254 and 78.

Hundreds - Tens Ones |

Wt AT -

.................

T =

3 2
N
& H T O
/(1) p
Mango trees = 12 |]5]|4 Step 1
2 Add the ones.
Guava trees. = 7{|8 4 ones + 8 ones = 12 ones
2 .| 12 ones =1 ten + 2 ones
LTOta' USest st oW - il 2 j * LCarry@)ten to the tens place.
o Step 2 i
Add the tens.
Mten + 5tens + 7 tens = 13 tens
13 tens = 1 hundred + 3 tens
’ LCarryG)hundred to the hundreds place.
Step 3
Add the hundreds.

undred + 2 hundreds = 3 hundreds

S0, there are 332 trees in the garden altogether.

R 30 .1 ale PESRP
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bl -~
Agrn

In an anumal farm, there are 345 cows

b
[

and 265 sheep.
How many animals are there in the
farm altogether?
- We will find the total |
345
+
265
70
Cows in the farm _-.‘1'3 "4 5 ( Stepy
. L214] | Add the ones.
Sheep in the farm =.12||86}|5 ' Sones + 5 ones = 10 or:
> because 10 ones = 1 ten
Total animals = 16][1]10 Carry(Dten to the tens p:

l ' ' g

i !
[ m ’ ER Add the tens. 2
k’_l)ten +4tens + 6 tens = 11 tens
gﬂmwﬁm because 10 tens = 1 hundred
. ’zu'd'ad S So, 11 tens = 1 hundred + 1 ten.
\ hundreds = g hundfedt Camy(Dhundred to the hundreds plac

So, there are 610 animals in the farm altogether.

A : o ' ' lL. l !or!! -|| PES
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SNumper Operations (Addition)

Mathematics -2

j i Xxercise 3 '.?('

e the following:

1.0V
p— ; = —

gl riel| B|(n 7 o) ®[Cizie)

§ . B 2 4 9 5. 7 4*

' i 6 + 6 + 7
..-—‘“—_‘—__._‘M

m- “H A'T L Ona =i H 5T | O H T (o)
57 9 5 g 9 7 R T

3 4 9

T 1ol @[n[T]O
0 9 8 2 74
9 1 + 7 6
T (1) HI|T|O
2 3 3 8 4
5 8 + 1 2 6

AT (1) “-'H T|O ) ‘ H \_‘T:L’gji
9 S

H
& 6 1 6 3

__.‘
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1*
-

cricket test match, Pakistan cricket (eam scorsq 4

2. Ina ' 7.
first Innings and 378 runs in the md mmngc Find the w: -z
scored by the Pakistan cricket team in Both innings, 40

H T O

Runs in the first innings =
Runs in the second innings = _{ U

Total runs in both innings =

@%mmmwmmm, |
JORR\ L0 J 1

20 294.;%"5___,30

|

"
i

0 + 5

20 » 15 = 35ll

- Add 32 and 17 using mental strategy. —~ ).

- B S —

Scanned with CamScanner



tal strategy and complete the following:

dd uslng men e -1 g:
y20 * /18\ 20| + [_: = ]:_J
@-® [-+0]-L]
20 W 18 =
E 15 + {1{ 10 + = =g — ]
S + 2 "
15\@ (10)+(2) 2]
e 1% + 12 =
) 30.+10= 20+ 10 = [ 30+20=
! 10+12= @ 20+11= 14 +12 =
! 23+15= ' 35+ 13 = | 42 +7 =

| have learnt to: .

" add numbers up to 3-digit without . Vocabulary -’l,
carmying. e Addition ‘E
' add numbers up to 3-digit with |« Without carrying addltloni
. e

L s T it

« when adding 3-digit numbers, first add
the ones, then the tens and finally add the hundreds.

* when the sum of ones is more than 9 after adding, then 10 ones
make 1 ten. Carry 1 ten to the tens place.

* when the sum of tens is more than 9 after adding, then 10 tens
Make 1 hundred. Carry 1 hundred to the hundred place.

) 8@ addition of 3-digit numbers in real life.

|
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Uni

1. Tick (¥') the correct option.

(i) 25+0=
7 250 T 205
(i) 100+ 10=
7 1000 101

7 25

W 100

(i) When adding 3-digit numbers, first add the

& ones T tens

T zero

"W greater number

(v)  When adding 3-digit numbers, finally add the

& ones ™ tens

2. Solve the following:

E T O E T s
9 1 6
+ 6 3 8

()

0

110

—_— .

B hundreds T carrying ¢
(iv) When zero is added to any number, the result is the

T3 number itself

—_—

T8 smaller number

s
—

@ hundreds T carrying di

T (o]
5 9
+ 9
a0
6 4
+ 1 6

()

T | O
7
+
e )
4 3
+ 1 8

— e

Not for Sale - PESF
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I Mathematics = 2

+ 8 8 + 1 3 3 " 2 9 8
MinJrTo @ [ H Tl ol| &5 T e
& 5 9 9 ~ T
e g
4 59 8 8 8
’ % £3 6 7, Tl
M 45 e “Not alel PESRP
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Unit 2: Number Operations (Addition)

'Look and write the price of toys from the given pict

3. Ahmed buys a car and a ball
from toyshop. How much
amount does Ahmed pay to
the shopkeeper?

4. Amna buys a teddy bear
and a ball from the toyshop.
How much amount does
she pay to the shopkeeper?

3. Irfan buys a bicycle and a
car from toyshop. How much
amount does Irfan spend?

6. Iram wants to buy a teddy
bear and a bicycle from
toyshop. How much amount
does Iram need to buy
both toys?

u.res.

g H T,
Car price - = ,: [
Ball price =4 [: [

kAmount paid = E

5 H T 0
Teddy bear price = [
Ball price =4 [

| Amountpaid = (1L

3 H T 0
Bicycle price = D E
Car price =4 l: __E

émount spent = D £

H T 0

Teddy bear price = D E
Bicycle price =+ [;]___C
Amount needed = g E
\. -

T G 46 B

Not for Sale - PESFf
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o
(00}
(o}
~
o
(o]
(&)
[6)}
n

IfhTTTo] M [wn [T[o]| @[HIT 2
8 9 6 4 5 9 8 3 .
S 9 4 - 3 il '

«’- 45 Not for Sale - PESRP
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it

Look and write the price of

3, Ahmed buys a car and a ball

from toyshop. HowW much
amount does Ahmed pay fo

the shopkeeper?

4. Amna buys a teddy bear
and a ball from the toyshop.
How much amount does
she pay to the shopkeeper?

5. Irfan buys a bicycle and a
car from toyshop. How much

amount does Irfan spend?

6. Iram wants to buy a teddy
bear and a bicycle from
toyshop. How much amount

toys from the given pictures,

does Iram need to buy

both toys?

H T
r(;ar price = [ ]I
Ball price =L JL ]
[ Amount paid . = [ J[ T
H T ¢
Teddy bear price = | L
Ball price =4 r ) :
| Amount paid = 10
fet! H T ¢
Bicycle price = [] ; i
Car price =4 [ L
| Amount spent = :_;
k H T 0
Teddy bear price = L
Bicycle price =4 E;l_:—.-ﬁ
kMﬂount needed = j :—;

Not for Sale - PESF
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 Bubtract gt number from & dign i Y
Qubteact 2-Aigit numbo RO S g e il IJ»':':'?”M

-~ olve real Nla oumbors stoas of sl il uml a'i : ;‘Inu .

~ Subtract T-iglt numbar frop G 0l Wlllllmlll " ':“""”‘ "
Subtrack 2-cigit numbar from 3 digit numbar i ’{‘:""M"u
Sublract .1~§I|ul! NUEBEE o S gt e iy 'l’m:,(ﬂ:ml
Solve roal e NUMbAI 808 0 6UBIACN U 1 D figils it forressn
Bubitact L aigit number from i dyg)f Nl wlillhtm\r” i VI Bty
Subtract 2-digit NUMBAT fri  digit number gt bon o
Subteaet Jciait number from ot by

ih wmwmu

b vty e
SOWQ‘WﬁI lite numbear storles of subta I b S5 gl pittnitsenes, wthy Yenterdr
Analyza simple situations dentitying e aptistlen of sedeltien s sobie N
with Cl‘l’Wlﬂﬂ")ﬂl’anlnﬂ Iy e for M L

, s‘_‘_b‘"'c‘ numt.”m PO B0 Usling mental coalenltior, sheafy e

| have 15 pancily,
Ayashn has 8 poncils.

L e S it

ot for Sale - PESR
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o .
e‘_{_f;’? My age is 8 yearsJ @Iy age is 24ﬁ

ESalrnan Ra
' We can tell who is older by subtracting
8 from 24. ke SRR J
Tens | Ones } | Tens O"E
¢ _ F
U — 25
sl ] s 27 3
"' 2 | 4 i 5

s il

ol Step 1
, (D= G0 | | Subtract the ones.
Raza'sage = IZ] 14| | | We cannot subtract 8 from 4.
8 Therefore, we borrow 1 ten as
10 ones from the tens place and car
6

Salman's age = —

Difference = |1 »| to the ones place.

\ ) (Mten + 4 ones = 10 ones + 4 0N€s
e P =14 ones

f Step 2 14 ones—80n95=6ones£

' Subtract the tens. —

1ten—-0tens=1t i .
e & So, Raza is 16 years older than Salmé

- —_— 1 1 . - d’
; - » For effective teaching and leaming, use * ' as medium
';-. ' ' instniction to explain th _ ngfs urdu o-rlmai languag

: 'q..j = Explain the students how to borrow 1 ten as 10 ones from the tens plac€

EEEEEnE T 8 R
Not for S8l
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Mathematics - 2

! Nida has 42 apples.

" ghe gives 15 apples to Ali.
How many apples are left with Nida?

3 2 -‘

We can tell how many apples are left witﬂ

Nida by subtracting 15 from 42

e N
T O .
: 10 i Step 1 i
Apples-Nida has = 2
PP A Subtract the ones.
Apples given to Ali= [ 1 5| We cannot subtract 5 from 2.
Therefore, we borrow 1 ten as
kAppIes left s [ 2 7 7 ’.10 ones from the tens place and
e carry to the ones place.
1.ten + 2 ones = 10 ones + 2 ones
Clue Words for . =12 ones
Subtraction JZ ones — 5 ones = 7 ones P
N e |eft
® how many more i Step 2
® how many less/fewer s| Subtract the tens.
s 3tens - 1ten = 2tens
~ remammg 49 )
difference

So, 27 apples are left with Nida.

B 4a

Deseribe the real fife examples on subtraction and explain the clue words for sublraction.

Not for Sale - PESRP
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E

1. Solve the following:

- el O - T
2

0w
I

8§ 3 5
=2 7 ~1
B o B Erosl B el ol B PTT
7 0 g =19 9 8 8
il A _5 5 = _7

2. There are 45 passengers in a bus. If there are 18 women, ho
many men are there?

Passengers in the bus

Number of women

_ Number of men

"Not for Sala - PE!
Scanned with CamScanner



 goat farm, there are 148 goats.
goats are sold, how many

ts are left? h

Ny BB L AR A LA ALY i~ ST i e S Pt

| When subtracting 3-digit numbers, first subtract the
ones then the tens and finally the hundreds.

Hundreds - Tens Ones
) W
A
3
: H T{NO']
oatsinthefarm = [1]14 ] 8 B
oats sold . 2 | Subtract the ones.
oats left in the farm= [ 14| {3 Ta'aones Lt fet
|
I_— -

ll Subtract the tens.
—_ v 4tens O tens =4 tens

Step 3 .
tract the hundreds.
f_gdred - 0 hundreds = 1 hundred

143 Qoats are left

Not for Sale - PCSRP
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'
the hundreds.
2 hundreds - 0 huncrecs = 2 hungreds

So Hamza has to read 224 pa,es

{

Step 3
Subtract the hundreds.
4 hundreds — 2 hundreds = 2 hundreds

So, there are 240 female
 workers in the factory.

~ Scanned with CamScanner



Mathematics < 2

ine '
— 2. There are 685 students in a school. If there are 384 g|r|s how

many boys are there?

-~

\

T
-
Q

Students in the school =

Mhe school

 Boys in the school

\——_—-—;—-:*v \_______________..——-——-—
- 5y T S RIS

Not for Sale - PESRP
h

I8
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A shopkeeper bought- 132 pens, He sold 9 pens
in a day. How many pens were left with him?

‘Wae can get the resull by subtracting
9 from 132, We canngt subtract 9
from 2. Therefore, wa borrow 1 ten
“as 10 ones from the tens place and

carry o lhe ones place 1
[Hundreds Hundreds Tens Ones
" i 1
i s %W .
*n
R i - - 3 __
“ - H bl ol
Pens shopkeeper bought = 1} @7 6[6?1
Pens sold —_— 9]
_ Pens left = 1 2] {3]
Blep2 | Subtract the ones.
- Subtract the tens. Borrow 1 ten as 10¢

| from the tens place |
_Ztens Otens =2tens carry to the ones pi

Step 3 e ) 12 ones - 9 ones =

Subtract the hundreds. . |
-1 hundred - 0 hundreds = 1 hundred l

So, 123 pens were left with the shopkeeper.

Not for Sale-
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|n festlval Maryam spent
s 465. Her friend spent

R 26 less than Maryam.

ow much amount did her

Mathematics - 2

We cannot subtract 6 from 5. Therefore, we borrow
1 ten as 10 ones from the lens place.

Eﬁ_ﬂﬁdfedspﬁﬂﬁs'

| A

o i —

E | , .

S m kY

e L L o

i T L L ' 3 | 9 |

£ =i w
| H gl

Amount spent by Maryam - [4] @) 5

Less amount spent by her friend = — 2 6

Amount spent by her friend = |4 3| [9 3

Subtract the tens.
5 tens - 2 tens = 3 tens

Subtract the hundreds.

hundreds - 0 hundreds = 4 hundreds

S0, Maryam's friend spent Rs 439.

o .'.'.

Subtract the ones.

Borrow 1 ten as 10 ones
from the tens place and
carry to the ones place.
15 ones - 6 ones = 9 ones

Not for Sale - PESRP
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There are 502 guava and apple trees
in a garden. If there are 245 guava trees,

how many apple trees are there?

Hundreds| Tens | Ones Hundr. ds’ %I
s | gl

| =11 22
0 2 2 5 [ 71

(We cannot subtract 5 from 2. Therefore, we bop,
's ii e

&3 from the tens place but, zero is at the tens place
N S0, we borrow from the hundreds place.
—
G oot o) | Step1
© Subtract the ones
‘ <\ @3 10 :
Total freeg QIBI @,@’ QZ Zero is at the tens place.
Guava trees = _ | 2 4 5 we borrow 1 hundred as*
tens from the hundreds:
L"_"\Pp"a trees = 2 5 +——— | and carry to the tens pla:
7 Then, we borrow 1 ten &
ones from the tens place:
carry to the ones place.
J2 ones - 5 ones =7 0f&

Step 2
.| Subtract the tens.
¥ 9 tens — 4 tens = 5 tens

{ Step 3
Subtract the hundreds.
4 hundreds — 2 hundreds = 2 hundreds

So, there are 257 apple trees in the garden.
R So TR

i Not for Sale-P
: .— I‘- - i _—J
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Mathematics = 2

@ w 7o @ u Tio
2 8 4 4 4 5

~ 2.There are 658 passengers in a train. 269 passenger;].s gte; lr;f'l; the
train at a station. How many passengers are left in the train:
e

! . ' H

| T

I
'ITQ"a' passengers Ll
Efissengers get off = — _—]

I

i
|

Passengers |eft
.’-‘_._‘H-—-__
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I

unit 2: Numbnr Opcralum-, (bublr action)

Read the stories carefully. Solve the question by iden;
operation of addition and subtraction.

bl e .

, Sy
H

AL L

' Find the clue words to identify the operanon
[ and then solve the questlons |

fying lhe

1. There are 528 birds and T T
395 animals in a zoo. Find: Number of birds =
T How many more birds Number of animals s
are there than animals? “,_L\
Number of more birds = |
T Also tell total number of LS —_
birds and animals Number of birds = |
altogether in the zoo. Nobar otanimals g E
Total number of birds )

and animals =
2. A bookseller has 385 T
books. He buys 145 books RDERONDO0KS .
more. Bought books = EI.
T Tell total number of S ————————
books. Total books =5
If he sells 265 books, then Total books =
how many books are left st |
with him? POILUOORSEERENE . L
L“Books left ! ]

Not for Sale - PE°
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B Sy —

S — - =

-n—-, Subtract 10 from 26 using mental strategy.

dp O

26 — 10 =

D#nbﬂ‘am 12 from 39 using mental strategyJ
w| [12]  [w]- [w] =

J‘.J\. E- [

ubtract and complete the following using mental strategy.

. ..
[]

12

]
B

13

=1

=]
s [»]]2]

HE!

Il

27

UI‘_H_JD

I

Not for Sale =P’
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r"F

« when subtracting 3-digit numbers,

. 1)
-~
.' 7 S

| have learnt té: e

e i T S —" o i

subtract numbers up to 3-digit [ Vocabulary ™
without borrowing. ¢ Subtraction

subtract numbers up to 3-digit « Subtraction without bory
with borrowing. e Subtraction with borowy,

first subtract the ones, then tens and finally the hundreds.
when borrow 1 ten as 10 ones from the tens place and carry lo

the ones place.
when borrow 1 hundred as 10 tens from the hiindreds place and

carry to the tens place.

use subtraction of 3-digit numbers in real life.

Review Exercise »

1. Tick (v') the correct optioh.

(i)

(if)

In the subtraction of numbers, first subtract

) ones tens hundreds borrow
500 - 300 =

™ 100 ) 200 500 300

\ —
\"%ﬂ; E

Not for Sale - PE'
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= Mathematicsi=2

T 90 - [@)99 @101 - 110
iy) When any number is subtracted from itself, the result is

zero 1 number itself[fl}] greater number
v 18-0% :

0 8 - @18 108

) Solve the following:

TOTO'TOTO
s 3

02}
o
-.4
N
Q0
(=)

H|{T]|O m[n [T[o] @[ H|T|O
g 1 9 = 3 7 8 O
2. -0 9 £ 5 2 7 1

BfHjT]o|l g [H][T][0] @[ HITIO

a
o
o
w
-
(o]
(0 8]
—_
~

Not for Sale - PESRP
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3. Umer has 42 toys. He distributes 18 toys among his frig,,
‘ are left with Umer?

many toys
Toys Umer has = I:—
Toys distributed in friends = _ j‘
O

|
L
Toys left =i Lo

4. A factory produced 624 bicycles in a month. 435 bicycles e
sold. What was the total number of remaining bicycles?

Bicycles produced = :— /® |

Bicycles sold \\

| Remaining bicycles = Q‘

5. Sana got Rs 850 as Eidi. She gave Rs. 375 to her youngert
Ahmad. What amount was left with Sana?

Eidi of Sana _:_:—
Eidi given to Ahmad = _ :]

Amount left with Sana = g

6. Atrain has 965 seats. If there are 780 passengers in the train
many seats are vacant?
Total seats -

Total passengers -

Vacant seats o
“ -

Scanned with CamScanner



Multiplicatio

ri{p'l'e'ting this portion, you will be able to:

gnize multiplication as repeated addition angd

use m 0§
Jlete number sequences in steps of 2, 3, 4, § and 1(;] leaen syrobel

:lop multiplication tables of 2, 3, 4, 5 and 10 till t
mbers within multiplication tables.
» number sentence for multiplication from the picture,

e humber stories on multiplication up to 1- digit numbers,

he multiplication of 10 » 10,

Not For Sale- PESF
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A

DET Uperalions ‘r‘r"-:'i“,’.'fdl. 1"&1':

We are four friends. J k i‘i

Can you tell how many hands the four friends have altogﬁh

2+ 2 + 2 +xz°§ 8 |
- We canread it as 4tim982 = 8
We can write it as 4%x2 = 8)

d-d-a-a+a-+g
5+5+5+5+5+5=30
6times 5 = 30 '

6 x 5= 30 . '
‘ §4x2=8isreadas'4hnm
' "" % . + ’ + ' L _Tho uymbol of multiplicatior
' . - P 1‘"}; ‘5 " Jt WA i
3+3+3+3+3 =-1.15;; —
5 times 3= 15 '_ 4,@
5 x 3= 16 =S
ot s e Lgﬁ
?’i . For-ﬂlcﬂvo I.amlng andmm'u".ufduww SN
*:) lmtmcnontnnplam the wmmmw i

Explain the concapt of ‘multplication a8 ropaatad addilon’ using teaching aids

-‘ 64

Not For Sale - PES*
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é un!:er QOpearations ﬂﬂuit;phatn'\l
il

{, How many stars are there altogether’> V52
W z& )i‘l _ TR &

Tota|stars=3+3+3+3

= —ftimes—___

—_— X —

So, there are _stars altogether.

\

—
2. How many flowers are there in all?

VV**

NS

Total flowers =

= — times— _
- = — X — e o v -

& So, there are flowers in all.
i — ~
:3&,3. Find total number of cherries. 1

dunwwuu

Total cherries =

— times—_

i.

Fage fy zﬂ%’*ﬁ*' R e e
'gf?ifﬁqtﬁ_[ﬁ'num_ber of cherries is—.

=/
65

Not For Sale- PESRP
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5. Fill in the blanks.
fa)
b)
(c)
fd)

2+424+24+2+2

4444 + +#4 +4

545454545

L+ ;+j

i
I\

5 x 2

I
I

6 xj |

[
0

3 x 10

)

Mot For

Scanned with CamScanner
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|

Counting in Steps of 2
; _k___;J Let usE‘.ount the cherries by DD
| _counting in steps of 2. ‘ 0 90
| o9 99 99
P9 99 99 99O
00 90 35 o8 35 oo
P9 09 99 29 9 ®9 ©9
9 OO 99 99 9 99 99
0 90 99 99 99 99 99
0 S0 9 99 99 9 99
2 4 6 8 10 12 4
N N AN A N A T = >
+2 +2_ +2 +2 +2 +2 +2 +2 +2
So, there are 20 cherries.
e 10 times 2 = 20
- Weca
n write it as 10 x 2= 20

~ Counting in Steps of 3

3 6 9 12 15 18 21
3 43 43 3 #3 #+3 +3 +3 43
10 times 3 = 30
10x3=30

Counting in Steps of 4

4 8 122 ®© 20 A
\N—J"\J\J\'J‘\J‘M---"w
W W w4 4 4 W +4 +4

10 times 4 = 40
~ 10x4=40

L s R e

-
L1

Not For Sale- PESRP
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Covning n Steps of 10 |
mm'iﬁﬂwjﬁf’mh
+10 +10 10 ﬂ@ #1@ ﬂ@ 10 +10 Hq

2. By counting in steps of 4

“0.00.00C

- 3. By counting in steps of 5

Scanned with CamScanner



Mathamatics ~

of 2.

{;\(e can develop ‘the table of 2’ by counting in step

"

"

"%

"% %

"% % %

" % % % %

% % % % % %

% % % % % %

L LTSt
%% % % % % 0 0
WL LT

”ﬁ"ﬂh-—-
g S

-

[
_1 time 2

F

—
3 times 2 )

=

-
_4 times 2

'"5’ times 2 2
(6 times 2
r7 tlnjéhs__ 27
(5mes 2 |

[9 times 2 »

10 tlmes 2

SV ———

1x2= 2

2x2= 4

3times2j 3x2= 6

4x2= 8
5x2=10
6x2=12
7x2=14
8 x2=16

Ox2=18

10x2 =20

——

1

S P R i

DT RV LN

S

A i

lches, T G10UpS of students and help them to learn the ‘the table of 2" using teaching aids.

Scanned with CamScanner
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We can develop ‘the table of 3' by coung,
steps of 3. _ _ in | |

r'
4

-

-
.

[ o
1 time 3

\\

1x3

" :_ZtimesBﬁJ 2}(3
"! (Stime-s-é;‘ 3x
"" - [jtlmeSS 4 x
L4 & 4 & 5nme83_J 5x3

yewewey 6timesBJ 6 x 3
"T11311 8 (Times3 ) 7x3
NN (tmes3 | 8x3
g

{ 5.4 “‘m ﬂ‘&nwﬁﬁsofstudén!s and help them to leam ‘the table of 3' using teachlﬂg
j {chart atc).,- -3_' P e _

* !nf Far Sale-P
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Mathematics - 2

9&\ {Ve can develop ‘the table of 4' by counting in stesz
. of 4. _ :

e W
| A ' Qi';"fi_u} 1% 4

e Framset B+ 4

I
s

I
o)

e = o e e ——

—_—

3times 4

3 X 451 12

e e e

L] 1 _ ;zl:tiieig4x4=16
ST VL 1Y RL . E 5x 4 =20
 wuNeRw E 6 x 4 =24
RTIQHYHE Ix4 =28
C wuBNLRNeR E?FZT] 8 x 4 = 32
 NNNRNBRRY  [oimess ] 9x 4 -3
 NRRRRRRBRR (F0tmes 4] 10 x 4 = 40

| Maketha gro'upé of students and help them to learn ‘the table of 4' using teaching aids
woi (chart, etc).

" : F L. I
e M Not For Sale- PESR
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- o~

.---rp———- -‘\

'the table of 5' by counting in StEp&

——

e <

"a 2 —— e
. =

"‘ﬂ'ﬂ.ﬂ Btimess 8 x 5="
"-'...'ﬂ ‘QtlmeSS gx 5="*

TR .

w-\" g - -
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C— — ———— S i

3t1mes10' 3 x10= 30 |
|
4t|mes10’ 4 % 10= !

2t|mes10 2 % 10= 20 !

Scanned with CamScanner



n today. There are 4 nm’,"

Y, Y in my law
= | 'Fk:rvreelr: VE,!,c_)orgch Aowerpot has 3 flowers. How p,
y ] :‘lrliwers are there a[_tqg_eth?T?

4 + = 12
=02
= 12
3x4=12
can be written as
4
X 3
k 12 J . S R - \
" Read ‘3 times table’ up to 4, we get 12,0 |
tion operation .

., Now, we will do each multiplica
. with the help of multiplication tables.

/| Clue Words for Multiplic?!

s —

So, there are 12 flowers
altogether.

If there are 6 flowerpots, how ' L o e{hE
many flowers are there altogether? r LL0CS é". g
- . i >

—

.

S

- -
; | E
CQ xplain to the students to solve real life problems related to multiplication usind o

Not For Salo-

| RS
. ‘
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3. Multiply and fill in the boxes.

~comEgmsSos e A P

. e s =Ty y ! £ s ! e |
mt‘:'3¥3 o8 m:s'{zt 0 @ 4x5 |
B8 DRI ¥
EaRTeT - e e ﬂ\fhj‘h?”-"'-"h

z y 2 o2 o S AT . '
| . ; 3 . ] 17X 3 =
glglgg'”ij 'ifs?ﬁiﬁ*ullxg n ‘:--“---—-,,

i -

S . g ammn - " ;
o¥os ) moKaE ) mies

h.rlﬁ ﬁ%h“&- -

4. Multiply the following:

- "._.‘

()

;..- z : -1 ! . i B r ¥
L]
: [ ! -y i .
Wl 5 b | . .

. | : Not For Sale - PE!:'vF‘P

Scanned with CamScanner



atlens (Multiplication

There are 6 cats. Each cat has 4 kittens. How many kittens are
: there in a"? r.--_-':"-_—:r-:"‘?' ."'"

—— .
6. If each flower has 9 petals then, how many petals are
“there in 10 flowers altogether?
™ =, "’..........:..;‘.-.-'.....'-..-.-.'.,‘i
-
:~_ i S /
7. f one bicycle has two wheels then, how many wheels do
4 bicycles have? oSS
X 3
- N————

8.If one octopus has 8 legs then, how many legs are there
NS octopuses? e

%
y 41 A

s e

s 3 Af

- g ~ - 4 L

e
% .
L]
i

Nat Enr Sale !

Scanned with CamScanner
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recognize multiplication as repeated

~ addition. Vo
' g e Cah

. use symbol ‘' for multiplication. . RS \"fﬁ

. count in steps of 2, 3, 4, 5and 10. Pealeq 3,

. Multlpljcaﬁun,

read and write the multiplication tables of 1, ~, -
2,3, 4,5and 10. nling i g,

: T * Multiplicagiy,
multiply numbers using mu - ony

tables.
« use multiplication in real life.

i borcise

1. Tick (v) the correct option.

ltiplication

() 2+2+2+2=
2 times 2 2 times 4

4 times 2 4 times 4

(i) 3,6,9,12,

13 &) 14 @ 15 J c 16
(iii) 10x 5= | |
7 10 @ 15 @ 25 @) 50
(iv) 7 times 3 = |
&) 12 B 15 @ 18 21
(v) 4, 8, 12, 16, , 24
m 17 ) 18 @ 19 (@@ 20
Not For Salé’ Pé

Scanned with CamScanner



s

by NumbBer operations (Multiplication Mathematics =
Uit ss

, ount the balloons.

FTIIITREE T Y X

-l T S v Total 4 4
;g}?oons e balloons
& times = times
X = X

-

"8

9 g-vwoovﬂ

Total  _ T°}|3' e it
= balloons

balloons= firips = times
= X = X

3. Complete the following:

2 By counting in steps of 3

00000000

@ gy counting in steps of 10

Ololelelolelee[e]C
e— 1 BT

Not For Sale - PESRP
.
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Unit 2: Number Operations {(Multiplicalion)

4. Match with the correct answer.

cgx30

G5 x90

cé x_1_.06 / @

67 x50

c6x20

010 x 20

sixse ) (8
c8 x4 Q

RETTY Y

09 x2o0

10100
5. Multiply

“&

n g

bt
Scanned with CamScanner



mber. Operations (Multiplication)

uniti?: NU Mathematics =2
~re 10 pencils in a A ;
5, There Are 1 be Packet. How many pencils are there in
‘4 paCkBtS Iin a" : #

7.If each vase has 8 flowers then, how many flowers do 3 vases
'have altogether?

™ =
_  3
RN

8. There are 5 oranges in a basket. How many oranges are there in
7 baskets in all?

9. There are 7 birds sitting on the branch of a tree. Find how many
legs these birds have altogether.

| N—

— X . =]
— . ¥ o
- . b
5 " + .
e N TR T )
81 —
] ] ’
g

*'nt For Sale - PESRF
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Division

After completing this portion, you will bo able to:

* | Recognize and use division symbols ‘+'.
Recognizo divislon as auccessive sublraction,

Divide numbars within the multiplication tables with remainder zero,

rﬁu]n-mmburlbﬂirlnvolvlmdlvlnlan up to 1 = digh numbers -
Ive real life situations (utlﬂﬁv(u klstan ourrOncy as wﬂl}lnv
'_,“ ation, and divislor, GI: ) the of

W w e -rnr

"" ‘v

' } ’*‘ W‘“‘
Let us put12bw

" Not For Sale -
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Mathamatisng

ns are left with father.

i‘m .
°hid gets 2 balloons. Subtracting 3 two times
from 6, we get 0.
6—353=0
us 'Uyu or loonlllngum‘ nm-dlumd -

x

AR ————————

Not For Sale - PESRP
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Divide 10 apples in 2 children using

successive subtracting.

000”
= 2 " — First time

8 — 2-—-+ Second tlme

E 6 | 4
g 9 _ 9 = Third time 10 ~2 —2=2-28

. Subtracting 2 five
, we get0,

4
— 2 — Fourth time from10 _
“So, each child g

2
_ o —> Fifthtime |5 apples.

e 2 balloons in 3 chid
eqgs in 4 children Divide 1
Egrl:gj;esﬁgcegsgswe subtraction. usmg successive subtracto
20 12
=4 e [
. =
0 3 frof
Subtracting___times 4 from 20,  Subtracting tlme'Shl d
‘we get 0. So, each child we get 0. So, each €
gets eggs. gets balloons

ﬁiﬁi%ﬁ#

Not For Sale - PESRP
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___ Mathematies =2

“| want to distribute 8 carrots
equally among 4 rabbits.

mto each _rabblt. Total carrots= g8 j7’ fﬁ:f"

s N NS carrots _
/ Sz A ¥ divided T T4
i ¥ OIS,
G hd  wbas Carrotsleft = 4
pr O g
- . —~ — — ~
o | give 1 carrot to each rabbit. Remaining
" carrots = - 4
\}_-;‘ “; Carrots 2 Ty
¥ ¥ divided Enecs &
MY "i]"_f."‘_“i""”i 1{¢ 47 carotsleft = 0
i - | -- J
8-4-4-0 f{%cl:all the ‘4 times
SUbtracting2time able’ up to 2. A
s 4 from 8, -
gty | 2x4=8 @&
PN
e can write, as,

N 8+4- g

' 8ach rabh; ° Di\}i'sde‘njis é
bit gets 2 Carrots, successive subtraction.
- e The symbol of division
] IS '+ J

et o
N in gro,

u' -‘._,:_-.-‘;-_3.,_ gbjmﬁh?:hhplalnthe concept of ‘division as successive subtraction’
psn:g S, °m Practice by changing objects and number of children in

Not For Sale - PESRP
Scanned with CamScanner



Unit 2: Number Operations (Bivision)

Total flowers

Total vases = .7_§_ n
Flowers in each - 15|+ 3 *lﬁ#

vase

=
2. Put-24 pencils equally in 4 boxes.

— e——
-}: . E Re cal! the4t|mes table
-'—\ ""-—--.._,___‘; | S
T \
_=

IR AL e I T,

* Total pencns

-, Total boxes

~ Pencils in each box

T T R a——

T WL ey T

- Total ice-creams

| Recall the 10 times tablé table
s

cosoamacecn - (i -l | FYNVAVIA0I
o C R LAl

Not For Sale - PESRF

~ Total children
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Mathematics = 2

o groupS and fill in the blanks.
e
e = (o

s, each group has

R G e 5
S0, each group hasz balloons. é ’ é. é’ é’

\__——_———_—_——_-——-.

1m0 -
a0 099000
group has[__balloons. é’é‘é’

] -—
k l : Not For Sale - PESRP °
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When an} number (excepl
zero) is divided by number
itself, the resultis 1.

6. Sara distributes 21 cupcakes equally among 7 friends.
How many cupcakes does each friend get?

So, each friend gets '_Qﬂ_bcékes.

7. If we put 32 oranges equally in 4 baskets,
how many oranges are there in each basket?

o

e e
R -aﬂ"'w

So, each basket has Wemnges

Not For Sale - PES#
|

Scanned with CamScanner



Mathematics =2

. Total

. Altogether More than

, Inall | gOW many less/fewer
. m emain

is i‘éded to Difference

. Product . How many will each get
. Times « How many in each
. Altogether « Shared

« Divided

« Equal/equally

k < By & Y\V‘\ .

Solve the mixed number stories using following steps:

I
1
|
1

Step 1 %ead the problem ca’refully.J

E‘ep 2 ]{Underline the clue words to identify the correct operatioﬂ

P—

| ,
‘Step3 % Draw a picture, if neededJ '

Step4  + Write a number sentence.J

% .
Solve the word problems.]

¥ Not For Sale - PESRP
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Unit 2 Nuner Operations (Division

Read the following word problems carefully. Solve the Probye
the identification of correct operation. Write reason to ChOOSO’?h'M%
operation. ¢
1. Atailor stitched 65 suits in the first month and 58 suitg j, th
second month. How many suits did he stitch altogether?

Stitched suits in the s Tell tho
first month = W Reasor )

-Stitched suits in the + | . E
second month = :C]ue word is al togeﬂ,
e '30. we add. |

2. Ahmed has Rs. 500. He buys grocery for Rs. 225, How much
amount is left with Ahmed?

) Tell the J8
Total amount e @ Reao /)

Cost of grocery — _—I iC]ue word is
[So, we
l

3. Ahmed has 5 books in a bag. How many books will there bein
6 such bags?

Tell the

Books in bag = Rea 301y .
Number of bags = D }CIUB word is =
‘So, we g

= {

[

e i e i i e

4. Divide 27 bananas among 3 monkeys equali;f.

Total bananas -

Total monkeys = [_i

W |Cluewordis_____-
So, we i |

B SR —

(T | Heto 1ot studonts o oyt comect oparation uaime .
g2 SIUCANS fo Identify the correct ope g clue words. Explain to the
@ wdenta o 0 sove s word problame, -+

o »
%

- !o! !or !a!e - PESR?

L ee—— ]
- i Scanned with CamScanner




Mathematics =32

nize division as successive

. ;
yraction et
sub |+ for division. * Divide

: usose using the multiplication ta.ble.s.'  Successive ﬁubtraction
mber (except zero) is divide | * Equally sharing

3 , when any nu

' Itis 1. ——
mber itself, the resu
3.,2: any number is divided by 1, the
: ultis number itself. L
Use division in real life situations.
Review E nc’:i-c_;it_:_p
 Tick (¥) the correct option.
f) Division is 2 - -
T equally add repeated multiplication
# successive subtraction repeated addition
i) The symbol *+' is used for .
Baddion [ multiplication {&isu btraction division
5100+ 10 =
W01 @100 @10 @10
") When anY number is divided by 1, the resultis __ e
%o (G 1 @) bigger number @ number itself
ff) 5«;-5 -
B )] 1 @) 5 10

M ~s Enr Sale:

. e ——
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3. Solve the following:
D:vnde 10 plgeons in

Divide 6 toys among 3 childre

+0=0

@3 Divide 8 balls in 2 teams equally

-

5 groups equally .

el 4}-49-4}4}-43

I
|

n equally. i

@..“
l

@ Divide 12-rings in 4 girls equaliy

OOOOOOOO

v Sal
e

Scanned with CamScanner



Mathematics 22

3. Ali distributes 30 chocolates equally in 5 friends. How many
thocolates does each friend get?

R S

S0, each friend gets chocolates.

} F:amé‘-ha distributes 20 suits equally among 10 children. How many
S does each child get?

+'_j=\_—\

0=

!ot For Sa
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After completing this unit, you will be able to: 1
» Recognize fractions as equal parts of a whole. "

* Identify half, one third and quarter with the help of objects ;
112, 113, 114). JBCIS and figures(wing,

* Represent half, one third and quarter in numerical form (1/2, 1/3 '-
* Shade the equal parts of a given figure to match a given fraf':tion and 14)

. Recogn!ze and name unit fractions up to 1/10. ' |
* Recognize fractions like two thirds (2/3), three fourths (3/4), four fifths (415)

nine tenths (9/10). uply |

== . |

e

| 1a divides her birthday cake into three eaual narts
IZ _ gives to her friends. Y i 2lesieatal Earts "

i
T —

e — 4

Scanned with CamScanner



! Seoactions Mathematics -2

(These are unequal
parts because the
shape and size are
not the same-

| Theseare equal
parts because the:
shape and size are -
tesame. o

aﬂdm effective teaching and learning, use ‘Urdu or local language’ as medium of
Eeaion fo oxplaln the concept of fractions.
| ) the concept of fractions using teaching aids (pieces of paper chart, equal

n parts, otc), g

Scanned with CamScanner



Jit 3; Fractions

Whole pizza

One-ha?lﬁ“ e %

When something is divided into two

equal parts, each equal part is called
one-half.

Key Fact .

Two halves together
one whole.

e

——

—

| AN
) — Y

T 06

otfor S8ale - PESRP
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Mathematics -2

‘n

|'

. Teoe
C[ji ZB .

s which have '@ Shapes which have
EneagL?ai parts J; I i\ Vi equal parts .

Z iy Yourselt) _ - )

1. Tick (¥) the following objects that are divided into equal parts.

() (..) (i) - 3oy (iv)
" | - - : - l
2.Tick (¥) the shapes that are divided into equal parts.

@ e F G
\ .

2T R 1

Not for = ‘'e - PESRP
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Uit 3: Fractions

One-quarter

—— —

' Ihave already divided a pIZZE into two
equal parts. Now, it is further divided lnto
- more equal parts.

Whole pizza - Four equam

One-quarter = ﬁ & ' One-quarter
One-quarter gﬁ ¥~ One-quarter

- When something is divided into four W) ¢
equal parts, each equal part is called )\ Key Fact: —
onggaanter. - Four quarters togethern
= ~one whole

A= Iy -urself

— —
e

Colour one-quarter of the shapes that are divided into four equal parts.

WP 1]

——

@ Explain the concept of one-quarter using teaching aids.

—-"

e s

ﬂ
Not For Sale- PE

>
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e ————

One-third

‘1 .

My father brought a cake. | divided the
into three equal parts. Then, we ate
the cake. The cake was delicious.

Three equal parts

T Mathematics =2

s
= e One-third
" Onethra
;n something is divided into three I_Seg_lfagt )=
%p%rts, each equal part is called { Ko s toasther T
ot |_ one whole. i

S e ————

Colour one-third of the shapes that are divided into three equal'parts.

S

)

=
@g‘u _

Plain the
e concept of one-third using teaching alds.

‘¥ 90 T G
: _Not For Sale- PESRP

Scanned with CamScanner
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Unrt 3: Fractlons

Atnahgle has two equal parts. One)

1 part is coloured which represents

one- -half. Itis wrltten as—;-

A circle has three equal parts. One'.
part is coloured which represents ! "‘:‘“'
one-third. It is written as ; |

T A
4

A square has four equal ‘parts. One

part is cof%{ed which represents

one-quarter. It is written as-}t— ;
R

[ SR

L
pEeSk

Not for Sale-"=" 4
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Figure &t part Nameof | |
parts Fraction Fraction
| TS T
2 One-half I
e -
:]j 3 One-third 1
//-f'_ .
4 One-fourth %
1 1 | One-fifth 1
r El . One-sixth < 3
L 1
E | - One-seventh -
| 1
li 8 One-eighth )
|
5 - : . 1
| g 9 ' One-ninth 9
| 7l

i re
g Eﬂbhln the fructlons from (3 to 16) bY drawing fig

cardsor charts) | - ”—
' i _ r ESR#
. ot for Sale g
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\

1. Match the shape with the given fraction.

-k “H—" -.-..‘\.‘

-9
—
—

i—

-] [l

=) ke
0 P

=

\

‘Mﬁr—q—- - d-..-u- - ”-u---n-n--_--n.

2. Colour one part of each shape and write fraction for the colour

part.

.
JERN

e B
LR 0 g

@ t.

- - b!l ] -
'.) e -
(@ i (b) l

D %} m

o UA
% «0us

(1

g
Not For 53‘*’" £
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Mathematics - 2

4

Four-fifths

B . o —

Seven-eights

9
ki \

- - iy

e

Eight—ninths Nine-tenths

@ ZL Fraction of _ Number of coloured parts

col
oured parts ~ Total number of equal parts

—

m""'” learn the names of fractions using teaching aids (charts, flash cards,

g- - T Not For Sale- PESRP
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[ ]
Exercise 2 /%3

1.L

ook at the coloured part of each shape and write {hq ragy
"

2. Colour the shape for the given fraction.

3 5 V3 |
MEJ - _6] G

w— ‘I Not for s-u-PEB'i

-
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parts have the same shape and
eS¢ when something is divided
al parts, each equal partis
Aif We write it as .%.
r make a whole, when
ivided into three equal
“We write it as%—-

s, each equal parti

whole.

" Vocabulary

« Fraction

« One-half
« One-third
« One-quarter

e —

ke a whole, when somet
s called one-quarter. We

parts, each equal part is

hing is divided

fcoloured parts

o quarters {0
“Number of GO0
f equal parts

+ iraction of coloured parts = T tal number ©




|

half [ﬁ] one-thir
-hal
() one
hat aré dWIded into halves
S

3. Match the

P 0 T
Nnt For Salé-
Scanned with CamScanner



‘Mathematics s

the fraction for the coloured part of each shape.

;QHInt ot ;__-.._-._ IR Y-\

Count the coloured parts and wnte the fractlon ,

5 Write

] m

Not For Sale- PESRP
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P

Measurement:
Length, Mass, Capacity

fler completing this unit, you will be able to:

o Compare the lengths of different objects. .

o Recognize the units of length (metre and centimetre).

o Use standard metric units of length (metre and centimetre) and their abbreviatigy
measure and record lengths of variety of objects. lo

s Use addition and subtraction within 100 to solve real

same unils.
t objects.

e Compare the mass of differen
Recognize the units of mass, i.e. kilogram, gram.
d grams) and their abbreviation 1

[ ]

« Use standard metric units of mass (kilograms an
measure and record mass of variety of objects. '

e Use addition and subtraction within 100 to solve real life situations involving mass in

same units. .
Compare capacity of different objects using nonstandard units (jug, glass, cup, elc,|
ts of capacity, I.e. litre and millilitre.

Recognize and use the standard metric uni
Use addition and subtraction within 100 to solve real life situations involving capaciy

in same units.

life situations involving lengih
t

My mother is taller than me.
Is there any instrument with
which we can measure our

heights? :

.-
h Ny ﬁh_‘__ﬁ\‘ Y.
e

- PE

Not for Sale
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The car is longer (nu?t}

. the car than the
than the motorbike. e

motorbike?

pE——— . .
"How much longer IS
Mn we find? p [

To measure the exact length of objects, we need
the standard units of length.

—

Metre

—_—

s s the standard unit of length. The symbol 'm' is used for
mete,

m

0

The length of rope, wire,
ribbon, table, etc., are
measured in metres.

t-'e ooy k.‘:
%:#T width and height of longer

iy ffggsured in metres.

¥, |
| S0 "’“Vu:. teaching and learning, use 'Urdu or local language' as medium of instruction
| - concepts of measurement,
109 —
Not for Sale - PESRP
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Unit 4: Measurement

_ How much longer is the blue | "~
3 /’Jpencxl than the red pencil? .

Can we use metre scale to measure the '

! length of a pencil? A
! No, let us learn how to measure the [

' length of shorter objects. | N

Centimetre
Centimetre is.also the unit of T"I"“’"’”’"‘"f
length. The symbol 'cm’ is used ERARRNARNLY
for centimetre. iy

The ruler is divided into 15 equal
parts. The length of each part is 1 cm.

The length of pencil, notebook,
chocolate, etc are measured in
centimetres.

l'-r’r'i'l
9 10 11 121
[ e ore e )

The length of chocolate is 8 cm.

. Centlmetres are used to measure the lengths of shorter objects.
e 1m=100cm

Liass A )
Measure and record the lengths of objects which are in the
classroom using metre rod and ruler.

Length of the longest object in the classroom = —gi
Length of the shortest object in the classroom = =
W ¢ Help the children to measure the lengths of short objects (pencil, eraser Shamen"
i 4..}; notebook, etc) using ruler.
% ¢ To perform the classroom activity, measure the lengths of objects (board. door:

notebook, pencll, etc).

110
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V : _ s Mathematics =2

he following objects can be measured in metres (m) or

chof t

Y

th of a table
The lend | .

felength of your notebook

i The length of school bus

tThefength of cricket bat

"Me length of your lunch box

i
The
ength of tissue box

e

Not for Sale -
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i. The iength of the pencil ‘

ii. The length of the key

iii. The length of the

toothbrush |-
o 1.2 3 4 5 6 78 9 10 11 124,
iv. The length of the e g _L.u.l...n.J.....l..i-I-i-J,_;.L.u.l.a-l-I-l-A-l.u_. L

eraser

(b). Read the lengths of the above objects and fill in the blanks.

i. The pencil is longer than the

ii. The toothbrush is longer than the - |'in -96_;1??&}_16& b5g7
find an object which
is smaller than your
eraser and measurt

its length.
e’

iii. The key is shorter than the

iv. The eraser is shorter than

3. Measure the lengths of the following objects using ruler.

| L

o cm cm

— 112‘ﬁ
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. ~t A--......-._.._ . .__ i

: ",nd Subtraction of Lengths

0 g red rlbbon and 18 cm long green

lha 9 2wr|at is the total length of ':.,:,._ «,:,l

l ﬁ\bohnbboﬂso .o -

! 5 ;.; SHEEOT
9 ?’ C

F_1) 1

= 1
( gmoftherednbbon = 25cm1

Len
| ngth of the gree!n ribbon = + 18cm
Le e ——————
= 4 3 cm
' Total Irsngth T S s
;wngm of both rlbbons is 43 cm.

? l
/( Also teII WhICh nbbon is Ionger and how much __.l

L ——— s .____‘\__,.

.....-«-"""‘ =

o - @g
Length of the redribbon = 25cm

Length of the green ribbon = -18cm |

3o
Difference in lengths = 7cm |
ba red bbon is Iodnﬁé? : |
bﬂgﬂlgf the red nbgon is 7cm.longer than the green ribbon
#e the following: e .
G ¢ m—— m—— W
€ ] ® (0
53m 72cm
| +29m - 34cm
R
1
82m 38cm
R, RN S .
ction of whole n hed
bmmmaeum of lengths are same as eddiﬂ:; ::: ::::::dmg gty

idents 1o write the units of length when addi

Scanned with CamScanner



Unit 4; Measurement

e

Exercise 2 @‘

- =
- .
T

1. Solve the following:

- 10m ) e ( 16m ) 39cm ) ne M

} + 8m ] + 14m }@(4'24@:1 (‘ﬁ‘_ﬁ(‘s%
T B s
| ¢ - _ =

U . ; —d
48m | 67cm 79m i,

' +43m | i{_ +27cm ' el (+ 12m J@L f::
l_, BT ) J LH ) | T
Ty

m o™ ‘ 28m } STem | T
i__— 6m | . —l2m ("] —28em " i
= e’ ) . k. . n

green cloth. How much cloth did Nadia buy
altogether? - ——
So, Nadia bougnht — m eloth altogether k_,‘_____.ﬂ-f}

3. Nadia bought 18 m of white cloth and 15mof [ ‘]
: |

4. The length of Ahmad's lunch box is 24 cm and

the length of his brother's lunch box is 18cm. | —
Which lunch box is longer and how much? P
S0, ~ luneh box s long and — |epg in length.

R
Not for Sale - PE’
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i * o el e R

PR 3 b B D B .

] How much heavieristhe . .
ﬁ -, flour bag than the Flour
_ 7 | watermelon? oy
» How will we find? =33

e —————— it TR, L

iumeasure the accurate mass of objects, we need
sestandard unit of mass.

~ Kilogram
% standard unit of mass is kilogram. The symbol 'kg' is used for
igem. Itis used to measure the mass of heavy objects like
'arbag, watermelon, etc.

umeasure the mass of heavy objects,
xuse different type of balances and
%hing machines.

128

(7> Key Fact

ff (S
. Kilogram is used to

| ‘ | measure the mass of
tm" - The mass of flour | ;Lavy objects.
86kg. is 10 kg. | .
288 of flour bag is 4 kg more than the waterme

g

L

lon.

-Ig.l them using
he mass of classroom objects using welghing machine and ‘tcach .

/ approach, _//,__._-

Not for Sale - PE
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| The book Is heavier than the pencil.
' How much heavier is the book?

| How can we find It7._
us learn how weé measure the mass of

|
!
1
|

Let
lighter objects.

| Gram |
ass. The symbol 'g' is used for gram, |tjs,
of lighter objects like pencil, biscuit,efc,

of lighter objects, we use different type o

Gram is the unit of m
to measure the mass

To measure the mass
balances and weighing machines.

d Key Fact

The mass of biscuit . Gram Is used to measure the
mass of lighter objects.

pack is 300 g.
e 1kg=10009

=Zctass Activity)

rd the mass of school bag
ssroom using @ weighing machine.

s of

Measure and reco
students in the cla

The mass of the heavlest school bag= -

The mass of the lightest SChOO! DAG = e

and of ;

\

———

._,: ,. Tell the students that In our dally life the wo

s
ﬂ 116

rd ‘weight’ [s also used ins!

Scanned with CamScanner



owing objects, which will be measured in kilograms (kg)

I ich will be measured in grams (g)?

G 2

of a chocolate
pomess Rle==s==2
. The Mass of a pencil | \

 The mas$ of a sugar bag ]
; Read and write the mass:
A

Scanned with CamScanner
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= My father bought 20 kg of
apples and 15 kg of guavas.
What is the total mass of fruits?

Mass of the apples = 2 0 kg
Mass of the guavas = +1 5 kg

Total mass of fruits = 3 5 kg

e e R — =

So, the total mass of fruit is 35 kg.

_ Also tell which fruit has more rna:?.;1
and how much? )

p— R 3 -

e

r ’ e .
sl @ )
rl\\dasé"of the apples = - 26% kg
Mass of the guavas = -1 5 kg
Differenceinmass =  §'kg J

k‘.-_
- -

So, mass of the apples is 5 kg more than the guavas.

Observe the following:

B

’I . Addition and subltraction of masses are same as the addition and subtraction of whole
w numbers. Tell the students to write units of mass when adding and subtracting the mass®*

2 -- ‘.’. —

Not for Sale - PESRP
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e the following:

_ { ‘ [
18kg 35 kg @) | 4 2 g @ 6 0¢g
_9kg “f-16kglw §=236 $=-2'5 g

Al ,‘,.,-. > r! T !i.;. Ak
1k @l s1g @@ 8seg M| 99k
“19kg b 22¢ CEAR. - 36ke
' M |

“yam bought 60 g of red pepper and 35 g of
““X pepper, Tell the total mass of both peppers.

”‘Wmmafbomsepparsls

#0%er buys g5 kg of potatoes He sells 48 kg of

“ilogg, How
h

much potatoes are left?

S 0f potatoes are left.

Not for Salc - PESRP

Scanned with CamScanner

__-‘



‘__

UnitdX Measurement

o —

—— - — %
The jug holds more water.
‘The glass holds less water than the jug.

e e e ———————— e — e —e —

@\Kﬂv Fact —

/ The larger the containg
; the more capacity it wi
The bucket holds more water than the bowl. _h_aie_.__

=1

'-_?'L

- Try Yourself ;

Tick (v') the container which has more capacity.

- || @

-

. 'Demonstrate to the studen |
1s to fill glasses tyol |
"‘hm S ) eront containers. 9 of water with a jug. Explain the capacily

AT 120

Not for Sale - FE"
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y

(sfandard Ul B Capacity
 Atoapot holds moro ton |

ﬁ “ | than a cup. How can we fl
Y find that the teapot holds

‘ " more tea? |

10 accurate capacity of the containers, we need the

U
mﬁ units of capacity.
$ is the standard unit of capacity.
Tha symbol ' is used for litre.
Water, milk and petrol are measured
n litres.
- .
ililtre is also the unit of cagaﬁnty.
The symbol 'mZ’ is used for m|II|.I|tre. -
tis used to measure the capacity of small -
uwntainers. }
The capacity of glass, cup, etc aré measured -
n millitres.

e ——
- e

*The capacity of large containers 'ns f |
. measured in litres and the capacity © |

~ small containers is measured in mlllnhtresj

[ 1mt000me

r sale-P

gy W
i—_
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be measured In litres (02

what will

e followingd containers,

1. Inth
what will be in millilitres (mt.’)?
i, The capacity of a tub l ( ‘
r-_-— i
ii. The capacity of a cup b ol _ @
- [ Ve
iii. The capacity of a spoon ] ‘
o =1
iv. The capacity of a jug ‘ "

v. The capacity of an inkpot o

rs that have capacity in litres. g

'r

2. Encircle the containe

Not for Sale - |
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| live in a village. My cow
gives 12 ¢ of milk in the
morning and 9 ¢ of milk in
the evehing. Tell how much

; .I H [l
» milk cow gives in one day?
wa.'my of milk in the morning = 1 2 ¢
g quantity of milk in the evening = + 9 ¢ |
= 2 1%
— e —
s the cow gives 21 £ of milk in a day

: ikn;)wrmycow givé;rﬁore mil‘k
in the morning. Tell how much

- more milk?
) EA— e—— () D
[ The quantity of milk in the morning = 72 ?
The quantity of milk in the 9\{@}_{1& =__ _Q A
 Difference in quantity. = L
?:‘:emw gives 3 £ more milk in the morning.
the following:
" i3 5 me
' !
prd o
! 8 1ml
\d subtraction of whole

o " ”mmdon of olpm;tlu Is same as the addition and .
ta, m"" students to write the units of capacity when adding and subtracting the

- " i I Not ;or !aio y !!!lil

__—#
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Uit d MaARIITAITTAR

1. Solve the following:

mb 2 2 ml [hj 38
o+ 1 4 m{ l+15

(©) 71¢ 65:116}!!1P 8 57
L 19¢ 1& + 25 mEJ l-{-l_ﬂ £
2. Solve the following:

@l U1 me @ 20¢ [ M| 32m€§.
t - om/ $ - 1217 1-—13“11’f

; }

|
() 73¢ (@ 6 7me lr 8 1¢
{ _438¢  _28me| f-59¢ |
| L = |

3. Irfan fills 18 7 of petrol on Monday and 14 £ of
petrol on Tuesday in his car. How much petrol
did he fill in his car in two days?

L—-—-—
[

4. A milkman bought 75 ¢ of milk and sold 68 ¢ of
milk. How much milk is left with him?

/
RS R 124 i
R, Not for Sale - PES
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th of different objects.

mma leng s ————=Y
P e metre and centimetre as E L\M::ul-rv |
r"”gnl:dard units of length- 5 I\::t?e
pesP tard units of | ;
: gnd sY ctthe standa | » Centimetre -
' ' % o« Mass
#’9:: . standa units of length in real { . Kilogram
3 ‘; o« Gram .-".
:,pare the mass of different objects. ’f] . Capacity *
' sethe kilogram and gram as | ° Litre 3'
' o Milllitre

A

' mgta"dard unit of mass. .
subtract the standard units of mass.

[ ’ﬂ&nd
ard units of mass in real life.

 sathe stand
f different objects.

 sompare the capacity O
 sognize the litre and millilitre as the standard units of

capacity. |
. ¢4 and subtract the standard units of capacity.

. s2 the standard units of capacity in real life.

O
S
]

“()the correct option.
Mh:ght of a tree is measured in
6
1 litres kilograms  [[i] metres

125

L . . Not Tor Sale - PESRP
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@) m
g GRL |
- measured in____——
t objects is
. length Of sho S [G)] metres
(N);he l"-l.ies e _ontimetre @ gram
) mifit |

. f/.
tandard unit 0
; @capacity [@] mass

| i ' llowin
2. Tick (¥) the suitable unit to measure the fo ;

—
f ket of chips :g/—’j \_E/
The mass of pac e
W N | T
The length of geometry D% —
s S — — S ‘ /
water tank J - [ L il S

[‘IThe height of a pole

'
ﬁhe mass of a chair . @
o
)

3. Solve the following:

.""- - - e
@ 37cm_i 83 kg, |
rl?‘.cm i+16kg" (. 2 ome i+

e e

.The capacity of a

)L

|
)

e : i Not for Sale - pest
> |

Scanned with CamScanner



.

boug‘ﬁt 80 ¢ of ice-cream. He sold 52 1 of ice-cream
ice-cream was left with him?

e ——

| : re than a rice bag. If the
wheat bag is 15 kg more
memﬁ:f;;e bag is 48 kg, then find the mass of the wheat bag.
125 0
//_— . g ¥

|

|

Yelength of a red wire is 90 m while the length of a yellow wire is
im Which wire is longer and how much?

fo— pre———— |
g .3:

B —

Sl i) e 2. _j

BEeRENT o - )
i . e b s

e — : Fr-

|~ Wire is long.
~longer than the wire. >

%ﬂ?m
A | i
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S el A BPEAS TI—4 REAR

Afler compleﬂng this unnt you will be able to:

Recognize the number of hours in a day and number of (0inutes i e by,
Read and write the time from a clock in hours and it (040 s srieng, ")
Recognize a.m. and p.m.

Draw hands of a clock to show time in hours and minutes (wih e minse
Use Solar calendar to find a particular date/day.

Use lslamic calendar to find a particular date/day.

Amna goes to school 2
7:00 o'clock in the mom

She completes her home
at 5 o'clock in the event

Is there any difference

writing the time of mom
and evening?

—_____._—--""
Io! ,or !ll. - P!

e ____‘
Scanned with CamScanner



| lock is

:ﬁgﬂ; ‘[;)ig The dial of

= Each big part is the clock is

= divided into 5 divided into  45{"
=3 small parts. On 60 equal «
=2 part represents small parts.
=mnute.

The minute hand moves from one number to the other )

number in 5 minutes.

When the minute hand completes one round in 60
minutes, then the hour hand moves to the next number.
So, there are 60 minutes in an hour. 4
There are 24 hours in a day W
because hour hand completes
two rounds in a day. |

Y e Wi oo 8
W, g #aching and learning, use 'Urdu or local language' as medium of

Athlain the concapt of Ume. . -
bout the minute and hour hands using a big clock. | -

Jot for Sale - PE SRP
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" Reading and Writing the Time

/ Let us learn to read and write time.

" The hour hand is at 6. The minute hand is
at 2. It means that 10 minutes have passed. |
So, the time is 6:10. We read it as 'six ten'.

\
1:45 |

One forty-ﬁveJ

| When minute hand is at 12, then we write '00" (zero) minutes

th
g' Enoou:q. e students to read and write time (with 5 minute-intervals) using a

TR e 139

Not for Sale - PES
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or0 410 24 hours in a day Hour hand of
5 clock wmpletes two rounds in 24 hours.,

m

-~

| W _ Night

/,”:‘_———:\;

o write a.m (ante- /( We write p.m (post- 1
reidiem) with time meridiem) with time

wich lies between which lies between

{200 mid-night to 12:00 noon to 12:00

200 noon, 2 mid-night.

ﬂ'—a‘.‘.

A completes /f:'-' ™ |
homework in the !_‘. ) :

evening at .
7 o'clock. We write

it as 7:0tam.
P

“‘f

A
.......

h“::"'-'d.nhbuuoflm or p.m it time using the textbook page of
(Including pictures showing different activities in a day).

e —__-_————-—'—
131 e
ot for Sale -
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—— B

Draw"'g Hands of the Clock

’We do not write a.m and p.m with 12 o'clock.
(e write it ag 12:00 noon or 12: 00 mid-night.

T S

5‘“«

he
P ": 'hldents to draw the hands of the clock and advise them to take care
e ha_“dﬁ (small and big) of the clock.

':

" Not for Sale - PESRP
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4 5 6
" 12 1
18 19 20
25 26 7

TP B WA e WAL W e

7
14
Fi
28

There are 365 or 366 days in a solar year, Th,

are 12 months in the year. A calendar is the

record of all months, dates and days of the ygg, ll

g

Calendar
February |
i I RN
1 2 3 4 5 8 T ¢

2 3 {1 g

2 12 03 4
8 9 10 1 1 4 8 & ¢P\\® 7 8B 9 % onn
15 18 7 18 § 10 11 12 13 14 15 18 14 15 18 17 n N
22 22 U 25 17 18 19 20 20 22 1 21 12 1 U nn
29 30 ] 24 25 26 27 28 29 30 2 29
| !
- ! . —
September
Won Tie Wed Thor f4 i
1 02 !
e 7 8 3 "
15 16 T 18 a 10 1 12 13 14 15 PERTER L B
22 23 4 25 i % 17 18 {9 20 21 22 20 21 22 7 U »
29 30 ¥ j 23 24 25 26 271 28 29 27 28 19 W
§ 0 N N
Tl v Sagle e B = S e e — .t

4 5 ] 7 8
11 12 13 14 15
18 19 20 21 22
2 26 21 m 20
g Wy T ——

L ] E

ot

&
)

November |
2 3 . 1 2 31 4 s 8 7 1
g i B0 10 11 12 13 14 ¢ 1 8 °?
8y 15 18 17 18 19 20 21 3 o1 18 18
n u 22 23 24 215 26 2T 28 20 21 1 2
» 29 20 77w 1w N
T "‘J TR o ENE 8T --..r-u-....,...—,! il ‘
' lﬁndq on the board and explain the method (o find a date and @9
i S o 7 : il
WAy e

Scanned with CamScanner
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b a for the given dates using the calendar.

g /H_,./”\.-"_""-— e e P
Bme///'\ Day Date ? Day
" pate — . . |
‘_ ,/ sunday 14 August

.gJﬂnuary

l/‘i‘--_,.'--—l-‘—‘—'--__

: |-| 31 July

;Marc
"3/"""'—-—-—__

_ 9 November
Soctober -
/
. 1Ma

s september 4 J
//-——

12 June 23R
* SFebruary /L’///

' day on the

ﬂ,-_ ~ o Encircle the date and
éf 3 1?21:??’ ?rt-he date and month of the independance of
Pakistan. ‘//
e )
| nin 965 days

“The Earth completes one revolutio

;;'_'%9..'% ihere are 365 days in 8 Y925 4 nas 28 or 29 aai

Loqy Ay is the shortest month of the Yo al. ‘ |
_ areaq Qr 31 daYS ina 50|ar nﬂrﬂ/
N : ’ B forsale- PESRP
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Unit 5 Time

Muharram

1
2% 4 5 6 718
9 10 11 1213 14 15
16 17 18 19 20 21 22

.Lli'nai' Célendar

Calendar

I11 12 13 14 15 16 17

iI8'192(}.'2‘122’.«.'324

There are 354 or 355 days in a lunar year.
' There are 12 months in the year.

[_ Rabi«:LAmT' ]
I' 1 2345
617 8 91011
13 14 15 16 17 12 13
2021222324253

~

——— e —— .

bsg_zs 26272829, 25 52627.282930 27282930
Rahl-ul-Sanl | Jammadi-ul-Awwal Jammadi-ufg
g e 112 e | 1N 1232
3/4'56728!9 ‘5673910 56789101

011 12 13 14 15 16 112 13 14 15 16 17 12l1a 14 1516 17 18 |
7:13192021 2223 18 19 20 2122 23 24 19202122232425
4 2526 27,2829 | 25 29 30 26272829 L
Rajab Sha'ban l Ramadan —
11234 516/ [112/3 45;6[7‘ L 1}@_' 3 &
576 789 101

718 910 111213
415 16,17 18 19 20

R 4 108
617 8 9 10 1112
ia 14 15 16 17 18 19
02122 23 24 25 26

7l A

81910 11 1213 14 |
15 16 17 18,19 20 21 |
22 23 24 25 26/ 27 23

o — o —— . ———

f Zul-Qadah
et
[152 34'5 6 17|
8 1910 11 12/13 44
15 A6/ 17 181920 21 |
22 23*24 2&2&27@3 |

20 0! DN B0 |

12 13 14 15 is 1718

Bk

Tell and help the students to learn the names of the months of a lunar year in order. e
the help of chart or textbook page or lunar calendar.

RN T 136 T

.Not for Sale - pESRP
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Mathematiens 2

\
calendar,
"'""""\Ir/“"' b B e
Day {
27 Ramadan

/T 12 Rabi-ul-
_:.’Oﬁ\mdlfu Awwal ;'
| 1 Shawal
o |
P |
- | 1.9 Zul-Qadah
..g‘a"i . -
@ 10 Zul-Hajjah \
Z%zg-Sani 25 Sha'ban I
O\ |
- Y

* Encircle the months on the calendar in which we

- celebrate Eids. e @

* Tick (') the month in which Muslims fast.

e~ ———pe )

Ty 6Ndar 15 350 known as the Hijri and Islamic calendar
S, <707 30 days in a lunar month, depending upon the

B PSS

m

Not for Sale - PESRP
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Unit5: Time

re are 24 hours in 2 day.
s in an hour.

(with 5 minute-intervals) . ..

S thB
there are 60 minute

. read and write time ﬂ
. use a.m.and p.m. ; mehﬁ
. draw hands of the clock to show the given i * PM.ang,,
time. u' Solar yay
. there are 365 or 366 days in a solar year. [* Lunar ygy
. there are 354 or 355 days in a lunar year. |+ Calendar
. there are 12 months in a solar year and a lunar T —
year.
« a calendar is the record of all months, dates and
days in a year. |
. find date/day using the calender. 1

1. Tick (v') the correct option.

(i) 1 hour = ~__ minutes
“ 10 30 50 60
(i) The hour hand completes rounds in a day.
&) 1 2 3 4
(ii) We write with time hi ]
Bl which lies between 12:00 mid-night
a.
| m p.m @ noon night
(iv) In the solar year, the shortest month is
Janua |
ry May Fabmary Decembe

(v) Muslims fast in the month of
Muharram Rajab SI.'laban

e Ll T
“. 138

Scanned with CamScanner



Scanned with CamScanner



4. Wrlto ime

Ahmad gcmﬂ o

Wi

5. Write the correct or

achooln
go'clock.

- g

Bndnr plnya
football In the

evening at 4: 45

o

N ———— iy —————

with a.m. or P m

|

by roading the sentence, R

der of the given months.

/
Gur family takos | (" Ayosha v
dinner at 9. 15. @ up In the ah’
morning af
TS N S
—l{j;fynm offers VB Hina takes
Maghrib salah breakfastat |
at 6:30. 7:25, |
(PR Py \ -

@ F May | -(JAugust l -r April \
- (_-t)ctober I r{anuary ' -l November\

'Rabi-ul-Awwal

rm‘Jamm.adi ul-Sanﬂ I &
j(c) : RaJab ‘ Zul-@
___..—-—"""

]

AR 1/ D
oo . 140 :
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Y i ml"s"unﬂ_' you will be able to:
P ng (& squate. rectangle, ang's, cirdie, semicirnis 2s o e
77 pe FgUre . of a triangle, rectangle and squzrs. B

ﬂ vefice = a straight line 2nd 3 curve.

W and curves from the given drawings.

o] sﬂ.ghf ight line of given length (exciude fracsors 2rcs,
JHW geomemca[pattemsonsqua 2 grid 2coording 0 ore o 1':,:1':‘-:

wt W » Shaw . D!ZE . Jr—__.-w.....cf :
eﬂ‘?ﬂg '3-0 der, cone, sphere| '
8 e abids,Cfindr,cone. sphere)

Jot for Sale - PESRP
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Unit 6: Geometry

I Let us colour.

; .
o
7// |\\<H
R
AA/\

B © l sm/AVAVA

umber of

Complete the following table by writing the name and n

shapes given above.
r Shape I Name I Number of shapes
1. | | |
O T |
I {
N/

-

.I 1 |
Al J_

L%' For effective teaching and learming, use 'Urdu or local language' as medium of instrugt

N

to explain the concepts of geometry.

i

W ] 142 ,
- Not for Sale - FESF
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Mathematics =2

| Lét ué divide a circle into two equal parts, |
| Car you name the half part of the circle? |

.

Circle

: Semi ci
ehalfpaft of the circle emi circle

scalled semi-circle.

m the circle into more equal parts. }

e get more New shapes.

e = :
Semi-circles -
. A Al | 4
Circle 2 equal parts 4 equal parts

e quarter part of the circle Quarter-circle

S@lled quarter-circe.

s S_trﬁtion method, draw a circle on paper. Cut it with scissors. cut the
ofsarni - cually and again cut it into more equal parts. Now, explain the
—ehicircle and quarter-circle.
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Unit 6; Geome

e S

Sifferent Shapes of Semi.. v
- and Quarter-circg felg

A————= 2\ ( o — |

f Semi-circles Qua”er~circ,
%

P10 D

£= iy Yourself” e —
Colour the circle red, semi-circle green and quarter-circle yellow, Wi
total number of each shape.

-
Cir - : : /
cles — Semi-circles Quarter-wrcles/
/
I\I’-lwa : s P =

| Draw

; Not fnr gﬂl"
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(e -"‘;ofgde is sides

e shape is called vertex. The plural of vertex is

It is a square. : side |

It has 4 sides and 4 vertices. Kvertex :

Its all sides are equal in length. (Corner),

Itis a trlangle : «——side

It has 3 s:des and 3 vertices. . vertex
Bt (Corner)

How many 5|des and
vertices does a circle have?

st

nd vertices using teaching aids (chart/wooden shapes).
"":'and venices of each shape.
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Complete the following:

My name Is _
| have sides and _ vertices, @
My all sides are equal in length.
\. \
( }\
| have _sides and _ Verts
/= ——
Who am 17 — iy
; S—
(_ —
| am a rectangle. : f;)
Ihave _____ sides and vertices. 4
L —

.\

©= Tiy Yourself

=

My name is oval.

Ihave _ sides and vertices.

e — s T————
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: |‘ho|d a piece of thread in both hands and pull it

tightly: A
/&— H\
ke a straight line. )

itis i

Different Straight Lines

-/

| hold a piece of thread in both hands and loose it.

Itis like a curved line.

Curved Path | _. Different Curved Lines

,»"“’m‘\( /\/

)
Q———"‘ s |

"'"ﬂl N"" Method, leam them to draw/make Ilnel on board (or using rope or

¥§m ——-—-'—_—-llmj"‘,,i
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1. Match the lines with the correcl namas.

| / ( Stralght Llnes /‘\\
A= A

! Curved Lines U

2. Write the total number of straight and curved lines in th G
shapes.

M M
n (b) @

Straight Lines— | | Straight Lines —

Curved Lines Curved Lines Curved Lines
, - J \
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“prawing Straight Line

. —— e

2 FT'T"]"[_r_rr Ty 1 L
/(tlsan‘“er Ic%‘ SR :‘ ': 110 1i1 urz 1[|r1i4 11 |
measure and draw a straight line with the

hel ofthe [UISE ;
ot us measure the length of the given
tralght line.

jaw a straight fine that is & cm lang using the ruler.
1

4the ruler firmly
he paper.

P

7Wa stralght line 3 m_lluuiuu!unlruqmmnqmrpm,mmmrmmw
coaigfe® RIS s 4 s 6 7 8 9 10
apenciiand - cm - .

wove the ruler.

jou have drawn 8cm i &cm |
ystraight line. - - i

a arulerand tell about its use. Guide and help the students to measure and
the Staight jines using the ruler.

%.14@?

.' Not for Sale - PESFP
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Unit G'. Geometr

1. Measure the following straight lines using ruler anq Write
s lo

(a) éih (b) T
Tyl --.......cm |
() I
cm

---------

2. Draw the straight lines for the given lengths using ruler.-

il — S e —— ———— = —

4 cm long straight line

{Q)
(b) 6 cm long straight line
o/ 10 cm long straight line

Not for Sale - PESF
__.__-‘
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—"""-"-_._,___'_____'

Lot tserv e it par
on a grid.

Pattern of change in shape

4_2;3

Pattern of change in size

b | A ‘ **>

TR

RN
Pattern of change in direction

~ Pattern of change in shape and colour

Pattern of change in size and colour

| g3 —
g%mhﬂp the students to make patterns. Provide square grid to the students.

%ﬁm—

Not ‘or Sala - PESRP
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| have learnt to;

~ Vocabulary |
square, triangle, circle, | * Semi-circle !
" i | o Qua i |
. arter-circle. uarter-circle |
grole and QU el |
ify and differentiate between | ; ne
" : ~ | * Curvedline |
ggntlin and curved line. |« Ruier B
qyastraight line using a ruler. ; o Patterns é‘i
ae and complete patterns e Grid |
' [ ' o 3-D Shapes |
ing to the shape, size and ¢ !
o -g | ' E o Cube .*'
felghn. e Cuboid i
wognize the 3-D shapes; cube, A ;
wboid, cylinder, cone and sphere. o Sphere |
| o Cone |

Review Exarciae gy

*(¥)the correct option.

"hich shape has 3 sides and 3 vertices?
i eclangle  |) square triangle circle

~—_ltisthe shape of a quarter-circle.

= - -
o
¥'1ss'm

o
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Unit 6: Geometry
(iii) @ It is the sl{ape of |
cylinder cone cube -~

(iv) <7 How many curved lines do a semi-circle have?

@ o B i @z @

(v) How many sides do a circle have?

(2)fY : ﬂﬂ!'l =) 3 '{:E 4

2. Draw a-rectangle, trianglé and square using the grid.

|

3. Write the total number of semi-circles and quarter-circles in

the given shape.

Semi-circles Quarter-circles ———

ﬁ

at
) - PES

lo far Sai
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awastraight line of your own choice.

LN
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choice and colour they,

6. Draw two patterm of your own

:
PR

]
I

=5

7. Match the each 3-D shape with its name.

e _;____ Nﬁ. £~ e"lf.
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